Math Simplified Material(2023-24)
Class 10th

Real numbers

e Each question carry One mark.

ﬂ?ﬂfém—[_'g’g

1) 39 »3 91 T H.A.S. J:

HCF of 39 and 91 is:

(a) 15 (b) 13 (c) 19 (d) 11

2) 7adp M3 q HYIs Aftmiet 5 w3 8ast & p/q © JU T TIAfenr famr 3,18 g0 I 3°
feg Aftor 3

If p and q are integers and is represented in the form of p/q,where g0 then the number is a:

(a) Y& Hft™/ Whole number (b) ufanw Aftmi/ Rational number
(c)yfaaf3a Afemi™/ Natural number (d) »ufoHe Hfef™ / Irrational number
3)T TY-TY WA Aftmiet T JIcae® JHAT Je7 J:

The product of two different irrational numbers is always:

(a) A3fex Hftom /rational number (b)) WeH3fex Hftp™ / irrational number

(c) yfaaf3a Afemd™/ Natural number (d) Bus=3 f&9° =T &Jt / none of above

4) T AfT-ws™ Aftret 7 H.A.S.INAT Je7 J:

The HCF of two coprime numbers is always:

(a) 0 (b) 1 (c)2 (d) greater than 2.

5) fAeT g &5 & & ufonw Aftmr 3 f£'x niufor wftmr T A3 fagst Aftmr 3=t T 2

Which number is the sum of rational and irrational number excluding zero ?

(a) yI& Hfem™ / Whole number (b) ufgHT Aftr / Rational number
(c)yfaaf3x Afem™ / Natural number  (d) WufgHe At/ irrational number

6) fex ni3™ Aft™ T Jesust <F fasst . Jet I 1A prime number has .....factors.
(@) 0 (h) 1 (c) 2 (d) greater than 2 /2 3 33t

7)26 W3 191 T HARS fgx ... Aftr T

The HCF of 26 and 191 is ................. number

(a) »3™ /prime (b) "UfIHT / irrational (¢) fAAS / even (d) 8udx3 5" €t 41" /none of
above

8) T HAM3ST YI& AfMe! T JE6es JHAT ... . B LS 7T AFET I

Product of two consecutive integers is always divisible by.....................

(a) 4 (b) 2 (c)3 (d) 6

9) 7d9 a=9, b=12 3" H.A.T. (a,b) x B.A.Z. (a,b) = .......

If a=9, b=12 then HCF(a,b) x LCM(a,b ) = .......

(@) 9 (b) 12 (c) 108 (d) 3
10) S AR S HAST W3 B AS. TICESB=.. ...

Product of HCF abd LCM of two numbers=...............
(a) At T AF /Sum of numbers

(b) Hftmi<t & I /Product of numbers
(¢c) Aftwer B 39128 /Divide of numbers
(d) HAftmret Tr HIET@ /Subtraction of numbers



11) 799 © USIHS AYIs Aftmiret & HoA.21 3, 3F Qast Aftmrer g . afde 957

If the HCF of two positive integers is 1, then they are called...........
(a) WUfINE / Irrational (b)) W™/ Prime(c) 3H/ Composite (d) Afgs™H/ Co-prime

12) 7+V3 f¥x ufgia Aftmr J17+V3 is a rational number. (At /9% 3)
13)Ad9 ‘n’ B Y3 Afemr I 3F Afemr 9" e fearet wia gvEr 1 Jer J1 (AR /IB3)
If ‘n’ is a natural number, then a number 9" has 1 as its unit place.

14) 5.8 8 UfgAe Aftpwr I | (AJt /315 3)

5.8 is a rational number.

15) © AfMIE T AT W3 HAI HET 72 W3 9 J| A fogt fed i At 27 I= 37 g
Hfemir 18 T (Adt/1B3)

The LCM and HCF of two numbers are 72 and 9 respectively. If one of these numbers is 27, the
otheris 18.

Polynomials
e Each question carry One mark.
A feasy ge:
1) gguT 2x+8 ©t fAET J: The zero of polynomial 2x+8 is:
(@) 2 (b)-2 (c) 4 (d) -4

2) 79 5x-25 & Jdt ggue I, 3T for dnf St faggt Jeainit 2

If 5x-25 is a linear polynomial, then how many zeros it has ?

@0 ()2 (3 (d)1 o i
3) fi39 fo fiamet & foredt fat 7 FLAN
In fig. find the no. of zeros for y=p(x) ? ‘ “/ L
(@)1 (b) 2 (c)3 (d) Bfsn &t AT ALET/Can’t be found. _’ : 1:

4) x2-12x-27 goue 39 fAga’ ot U 3 <u fa=st &t T Aaet I°2
How many maximum zeros the polynomial x2-12x-27 can have?

() 0 (b) 2 (c)3 (d)4

5) TIATENT qre foam ggue § TIAgET 97
Given graph represents which kind of polynomial ? F

a) Iyt gJu</ Linear polynomial (b) T W gJdU< / Quadratic polynomial

(c)f3& wrst IgUT / cubic polynomial (d) 79 WSt IgUT / bi-quadratic polynomial (ESEEEE
6) fea 35 w3t ggue S fAgat &F forsst ... Jet J1

A cubic polynomial has ............... number of zeros.

(@)1 (b)2 (c) TU-2U 3 /Maximum 3 (d) fegst f5° =T &1/ None of above
7) gguT fareT w3 wig 2 9, & . Ffde T&?

A polynomial has 2 as its degree, is called....................

a) I8 U=t gguT / monomial (b) € ULt ggU¥ / Binomial

(c) It Fgue / Linear polynomial (d) € WSt §gue / Quadratic polynomial
8) FUUT x2-bx+c f&g feren fRegt wr a3 . . JeEr T

In polynomial x2-bx+c sum of its zeros is................

(@)b (b) (c)-b (d) -c

9) gIuT 2x2-50 it fAgat .. .3T5 ?

Zeros of polynomial 2x2-50 is/are .........c.c...

(a) 25 (b) 5 »3 -5 (€)2m3 5 (d) 53 5

10)ﬁa€1%<ﬁmé]wﬁfﬂ§a+a:4w@’szsﬁ€3+§= Jer T




Ifa=4 and B =3 are zeros of a polynomial thenﬁ =

(a) 7 (b) 12 01 (d) 1.3333.......

J& &3 yie' 3¢ At/ 9183 €39 gE-

11) 34t ggue 39 fAeIt Tgcae® THAT 0 Jer J| (AT/T%3)
In linear polynomial sum of zeros is always 0.

12) Ad9 FgUT p(x) = Fd g ‘k’IR 3T p(k) THH 0 e I ? (AJY/a153)
If polynomial p(x) has one zero ‘K’ then the value of p(k) is 0.

13) € WSt ggue © gHE' © fAgg It J< Is| (AJT/3%3)
Quadratic polynomial has always two zeros.

14) p(x)fea gguT I Y3 p(y) a7 (Adt/a1%3)
p(x) is a polynomial but p(y) is not.

15) gguex-6 &9 fAgst T A3e® 6 J| (Ad/I33)

In polynomial x-6 sum of zeros is 6.

Pair of Linear Equations in Two Variables

e Each question carry One mark.

1. U THIFTAT arx + byy + ¢1 = 0; apx + byy + ¢, = 0 T HIT MAJIS J<dl 7dd

A pair of linear equations a;x + by + ¢; = 0; axx + byy + ¢, = 0 is said to be inconsistent, if

(a) 4 .h (b) “_lz_biif_l_
a b a by o
(c) H_1=£J.1_=EJ_ (d) ﬂiﬁh
Iy bz Co ﬂz C2

2. AfiIdATI R AR 3x—5y =7 M3 —6x+ 10y =7 T
The pair of equations 3x — 5y = 7 and — 6x + 10y = 7 have
@ fq J& Jean (a unique solution)
(b) & I (infinitely many solutions)
(c) e IS Bt (no solution)
(d) @8'8( two solutions)

ERE=C 1 IS 151 2 Y G LKL = E L A (RS U 1 L= — Jegfort
If a pair of linear equations is consistent, then the lines will be .........
4. H2x + Ky = 1 M33x — 5y = 7 AHI3dJE3KeHB I
If the lines given by 2x + ky = 1 and 3x — 5y = 7 are parallel, then the value of k is
(a) -10/3 (b) 10/3
(c) -13 (d) -7

5. x=-2TJTEy-Td © AN Jedr  (HAJ/ITH3)

The graph of x = -2 is a line parallel to y-axis ( True/False)

6. AAHITEX +2y =10 TRy THB 6 IS THS ... Jeam
If in the equation x + 2y = 10, the value of y is 6, then the value of x will be........
7. Td I Miiadst T T wHdE J 3T Ut
If a pair of linear equations is inconsistent, then the lines are:
(a) AHT3d (Parallel)
(byIHH HUTt (Always coincident)
(c) THHT TSt (Always intersecting)
(d) FreSAyTS (Intersecting or coincident)
8. MAIRI €I Ox+3y +12=0M3 18x + 6y +26 =0 T
The pair of equations 9x + 3y + 12 = 0 and 18x + 6y + 26 = 0 have
(a) B9 J& J<ar (a unique solution)
(b) FE IZ I&I! (infinitely many solutions)
(© EtERI | (no solution)
(d) @EJ?S( two solutions)



9. THITIAT x-y=2 M3x+y=4 T I J:-
The solution of the equations x-y=2 and x+y=4 is:
a)3n31 (b) 43 3
(c)-1M3 -3 (d)5M31
10. ¢ T HS &l J=dT A FHIFIS € Alcx —y = 2 M3 6x — 2y = 3T MBI J& IS
The value of ¢ for which the pair of equations cx —y = 2 and 6x — 2y = 3 will have infinitely
many solutions
a) 3 (b)-3 (c) 12 (d 5
11. @we@mm@mmwm | (AdY/A1%3)
The graph of a linear equation in two variables is a line (True/False)
12. 3t AHIAgaT 5x-7y=13 3 10x-14y=15 T A3 »HI3 J | F/TS3)
The lines 5x-7y=13 and 10x-14y=15 are inconsistent. (True/False)
13. 3t MHIIgaT 2x+5y=17 M3 5x+3y=14 T AF A3 J | (F/IS3)
The lines 2x+5y=17 and 5x+3y=14 are consistent. (True/False)
14. AHiGISTy =03 y=-7%"
The pair of equationsy =0 and y =7 has
(a) T8 IS =T (a unique solution)
(b) el I8 Il (infinitely many solutions)
(c) e IS Bt (no solution)
(d) @EI'S( two solutions)

15. Hx=a, y=b It AHIIIAT x-y=2 and x+y=4%ﬁ3?j'8§3'.’a”|§ b T HS ot Jedr
If x=a, y=b is the solution of the pair of equation x-y=2 and x+y=4 then what will be value of
aandb

(@) 2,1 (b)3,1 (c)a,6 (d) 1,2

Quadratic Equations

e Each question carry One mark.

1. W MHiIdE T IS U ax’ +bx+c I? (A/IB3)

ax? +bx+c is a general form of quadratic equation? (True/False)

2. J5 fafimit &9 faadt © w3t milags Jr
Which of the following is a quadratic equation?
a. X+1 b. 2x+y+3
c. (x+2)° d. (x+1)*+ x°

3. WSt Miaas T f3AdhHiAC UST 996 T SIHST b>-4ac J? (FJY/ATB3)

b?-4ac is the formula to find the discriminant of quadratic equation. (True/False)
4. fagdt 2wt miaas © ms Ut < Al 92

Which of the following is the condition of equal roots in quadratic equation?

a. b*4ac>0 b. b*-4ac<0

c. b*4ac=0 d. b*4ac>1

5. 2 WSt Mmiadas € H® Tr3fed w3 MAHTE JTdl #:

Roots of quadratic equation are real and unequal if:
a. D>0 b. D<0
d. All

C.
6. @Wmﬂaaﬁéwwﬂs b/a 9T J ? (A/ATS3)
-b/a is the sum of roots of quadratic equation. . (True/False)
7. 2 WSt IHiEd® 5x%-4x+5 € Y I&4! -
Roots of quadratic equation 5x*-4x+5 are:-
a. <A »3 g9rad (real and equal) b. mﬁ(not real)
C. WWWW(reaI and unequal) d. EEFSHW(not equal)
8. AiAd® (x+1)%- X% HS TH3fed &4l
Equation (x+1)*- x* has ........... real roots.
9. AHIAIE 2x%-3x+1 € IEEYS (2x-1)(x-1) IS | (AJl/ITH3)

2x*-3x+1 can be factorised as (2x-1)(x-1). (True/False)




10. A p=1M3 gq=-2 AIFIE x*-px+q=0 T Y& I& 31 & W3t Mtads J<dft -
If p=1 and q=-2 are the roots of equation x*-px+q=0 then quadratic equation will be:-
(@) x? + 2x =1=0 b)yx2=x-2=0
(c)x*-=2x+1=0 dx*+x+2=0
11. AHIEdE 2x%-6x-7=0 © YBT TTHI & J<dl ?
What is the sum of the roots of equation 2x*-6x-7=07?
(@ -7/2 (b) 3
(0 -3 (d)o
12. AiFT6 x%-x-1=0 © YS! T JITKEH o J<dll ?
What is the product of the roots of equation x*-x-1=0?
(a)-1 (b) 1
(c O d) 2
13. 1 AHFTE xP+4x+k=0 € THIST M3 F4-20 HS I& 3
If the equation x*+4x+k=0 has real and distinct roots then :-
(a)K>4 (b) k<4
(c) K=4 (d) k=0
14. 2 Wit AHIITE 5+3x%-9x=0 € HHT T HI J=dr ?

The sum of roots of quadratic equation 5+3x*-9x=0 is:-
@ 3 (b) -3
(b) 2 (d) 6
15. T WS IHiad® 2x2 - 7x - 3 =0 = FAHd < J=aT:
The discriminant for quadratic equation 2x* = 7x — 3 = 0 is:-
(@) 23 (b) 73
(0)-23 (d) 49
16. T Wit A 2x%-5x-3=0 124 a,b,c © HS ot I&d?
What are the value of a,b and c for the quadratic equation 2x* —5x—3 =0
(@) 2,-5,3 (b) 2,5,3 (¢) 2,-5,-3 (d) 2,5,-3

Arithmetic Progressions

e Each question carry One mark.

1. via arfefza &3t 20, 15, 10,.......... . T 158 U U3t 9 |
Find the 15t term of an AP: 20, 15, 10,............

i) -45 ii) -55 iii) =50 iv) 0

2. W I3 &t -5, -1, 3, T veooo ) T AT »i3T UST J9 |
Find the common difference of AP -5, =1, 3, 7 ,............

i) -5 i) 4 iii) 6 iv) -6

3. Y Jfef3a B3 4,10, 16, 22,.. .. T 0wl UL J<dI:

Next term of AP 4,10, 16, 22,....is:
i) 25 i) 26 i) 27 iv) 28

4. B igt T@t Adort 2 Aftpret BT A3E® ot d<ar?
What will be the sum of all two digit odd numbers ?
i) 2575 ii) 2475 iii) 2524 iv) 2425

5. HOT Wik AEES BIT T 7= mi3 132 UT gHITT 34 i3 64 T, 3T AT 182 U o J=ar?
If 7th and 13t term of an AP are 34 and 64 respectivaly, then what will be the 18t term?
i) 87 i) 88 i) 89 iv) 90

6. WX I3 BIT 47, 41, 35, 29,.....T7 Ud& Ug »3 AT nizg o J|
What is the first term and common difference of AP 47, 41, 35, 29,......
(i) 47,6 (ii) 47,-6  (iii)) 47,-5 (iv) 47,5



7. 8T viq afe3a 3T uzT &9 faReT StHIT uT 5 w3 7= ue 9 T

Determine the AP whose 3rd term is 5 and the 7th term is 9.
(i3,3,3,3,3....(i) 3,4,5,6,7,...(iii) 2,4,6,8,10...(iv) 1,3,5,7 9..

8.1 JIfe3x B3T 0.6, 1.7, 2.8, 3.9, . . .€7 UfI®T UT i3 ATST ni3g ot J|
What is the first term and common difference of AP 0.6, 1.7, 2.8, 3.9, ...
(i) 0.6,1.1 (ii)) 0.6,1.4 (iii))1.7,1.1 (iv) 0.6,1.7

9. T nict THAT TSt Hftmret 3 & S5t Fidhot 982
How many two-digit numbers are divisible by 3?
i) 31 i) 29 i) 28 iv) 30

10913 IIfe3x B3T3, 8,13, 18, . .. & fdaer ug 78 T2
Which term of the AP : 3, 8,13, 18, ...is 78?
i) 15<F i) 162t i) 14t iv) 172t

11. ufg@mrt 1000 Ts AYIS Aftmet 27 #3es UST a9 |
Find the sum of first 1000 positive integers.
i) 500500 ii) 500000 iii) 500100 iv) 500005

12. 8 T Ufg® 15 AT € A3€H UST I |
Find the sum of first 15 multiples of 8.
i) 950 ii) 960iii) 940 iv) 970

BfAnigafesa &S e ngfug a+n— 1 I I (AI/A®3)
nth term of an AP is a + n— 1. (True/False)

14. Hda, = 3 + 4n J< 3T WISAE3K HIT & 1027 U 43 J<ar | (AI/IHI)
Ifan = 3 + 4n ,then10th term of AP is 43. (True/False)

15. 2, 4,8, 10... ... .. ..[FI vix afesx &3t I (AJH/A®3)

Is 2,4,8,10...... .. an Arithmetic Progression (AP). (True/False)
16. &3t IEt vik aIfE3 3T -10, -6, =2, 2eeeeenne. TTHTST NIZT 4 I (AI/IH)
Common difference (d) of an AP -10, -6, -2, 2............ is 4. (True/False)
17.vix afesx B3+ 18, 13, , 3 g ud gt 391
Fill in the Blank of AP 18, 13, , 3
18. f&3t et wid afesx &3t -5, -1, 3, Tyreenen... T ST ni3g J
Common difference (d) of an AP -5, -1, 3, 7,.ccuuueune.. is
19. nix Jfe3d &3t 3,15,27,_, 51 K9 vt &f 39|
Fill in the Blank of AP 3, 15,27,__,51
200 IIfE3xX »I3t 3, 10, 17, .. T AST »izg J1
Common difference of AP 3, 10, 17, .. s
Triangles
Each question carry One mark.
1.7 AABC=APQR J 3t J& fesfamrt f&9° fagz Adt 37 A
If AABC=APQR then which of the following is true ?
(A) B&R (B) CQ D, E

(C) AR (D) AP



2.fg3 a2 fg39 9 DEIBC J1 7 AD = 2cm, AB = 5cm mi3

BC = 7.5cm 37 DE ¥ H& U3 &7 |

In given Fig. DE || BC if AD=2cm,AB=5cm and BC=7.5cm then find the value of DE
A.1.5cm B.2.5cm C. 3cm D.5cm

3.fg39 &g DEIIBC 317 AD = 5cm , DB = 8cm m3 AE = 7.5cm J 3t EC=?
In given Fig. DE || BC if AD=5cm,DB=8cm and AE=7.5cm then find the value of EC.

(A)8cm (B) 12cm
(C)13cm (D) 15¢cm

4.f539 9 DEIBC I 17 AD = 25cm, AE = 10cm, BD = (x+3)cm »3 EC = xcm 3T x T H& J -
In given Fig. DE || BC if AD=25cm,AE=10 cm,BD=(x+3)cm and EC=x cm then find the value of x.

A) 2cm (B)3cm (C) 4cm (D)5cm

5.fg39 T niftmis I3 I it fe8° AIT I8 ge:

By observing the following fig find the correct statement . R
6V3 7.6 3.8 3\3
(A) .P= /A (B) ZP= /B
(C) £P= «C (D) none of these P Q B C
1 6

6.AIL ... triangles are similar. A/9 ... 337 AHgU J¢ T5 |
TAIlLCIrcles are. .......ooouveveieiieieii S 99 JT I5 |
8.AIl SQUAIES are .........ceeveeeeeeennn.... AT I JT T |
9. gAet & ¥ AHS Hitmir =% € 9g3H AHgY JT 96 Ha@ () Bt e Aas o= .. J= 3

(i) Bat Eff Aoz gt
Two polygons of the same number of sides are similar, if (a) their corresponding angles are

...................... and (b) their corresponding sides are ........................
10.f/939 f&8 DEIIBC I3t EC T H® UsT a9 .y
In the given fig DE | | BC then the value of ECis D/ [E
(a)1cm  (b)2cm (c)3cm (d) 4cm 3em

11. 3 fg39 99 2P T & U™ &9 B ¢
In the given below figure, the value of £Pis R

(a)60° (b)80° 53 '

(c)40° (d)100° 38 4

60° -
B 3 C P 12 Q

12.f€3 939 &9 mHgusT @ far fou & @93 1=t ot 99

P
Which similarity criterion is used for the similarity of the given triangles
shown in fig? z & 5
(a) AAA (b)SSS (c)SAS (d)RHS /\
2
F—33—CQ R

3

13.f83 fo39 &9 miguzT © far foor & =33 &t

D P
et I? =6
Which similarity criterion is used for the similarity of the 8(? 8¢ 36’
E F Q R

given triangles shown in fig?
(a) AAA (b)SSS (c)SAS (d)RHS




14 grret & fq AHS Hftm % € 9937 AHGY JF I8 #a9 (i) 85' € Ha3 d 9999 IT
w3 (i) gt Tt Haz gret AHTS niguTst 3T | (ATH/A1%3)
Two polygons of the same number of sides are similar, if (a) their corresponding angles are
equal and (b) their corresponding sides are proportional. (True/false)

15. € AJSITAH »rfgSt gHAT AHgY JEhr 381 (AJY/a1s3)

Two congruent figures are always similar. (True/false)

Coordinate Geometry and Introduction to Trigonometry

e Each question carry One mark.

1.forfdg ey -uwo3edtGufdg e FoGetdl

The distance of a point from Y - axis is known as

2.f9gP(x,y) s fdgIedt_ gtd|  The distance of a point P (x, y) from origin is
Iz figefsgennia_ JeTs| The co-ordinates of originare __

4.1-sin2@ =_____

5.8in900e g Jerdl Value of Sin900 is .

At 7t /@3 ( True or False )

6.9 (0,4) y-u33nE3dI( )  The point(0,4) lies on y-axis. ( )

7 fari s wr v il (SEX M ¥D) Frgi( )

2

(X1 +X2) (Y1 +Y2)
(Futre - oarva) oy

The coordinates of mid point of a line segment is given by
8.(0,m2)f<g e cuc s Sine e Hs @A TuerJ | ()

The value of Sin6 increases with increase in value of 8 in interval (0,11/2) . ( )
9. A =00zt Cot Aufgsfiz af 31 ( ) For A=00 CotAis not defined. ( )
10. 0 € Ad H&' Bt Sin@ = CosO Ted I () For all values of 6, Sin8 =Cos8 ( )
g feasftyms MCQ
11. P(X1, Y1) m3 Q(X2 , Y2 ) fegarg gdt @ H39

The distance formula between two points P(X1, Y1) and Q(Xz2 ,Y2) is

A ~X P4, —h R B O XD (7 )
CV(XT - X3) + (Y - ¥F) d V(XF - X7) - (¥ - Y})
12.fF8 P (X1, Y1), Q(X2,Y2) M3 R( X3, Y3 ) i fggw se@=d a9
Points P(X1, Y1), Q(X2 ,Y2) and R( X3, Y3) will form a triangle if
a) PQ + QR > PR b) PQ + QR = PR
c) PQ+ QR <PR d) PQ-QR>PR
13. fég (a, b) m3 (-a , -b ) fegag=t gdt I

The distance between points (a,b) and (-a, -b)is

a)2+vaZ + b2 b) 4(a? + b2 )
)2 (a2 +b2 ) d) a2 + b2

14.9 Sec2 A - 9 tan2 A €7 H® gd™8d J
Value of 9 Sec? A - 9 tan2 A is equal to
a) 1 b) 9 c)8 d)o
15.1-Sin2@=___
a) Sec?0 b) Cos26 c) tan26 d) Cot26



Circles
e Each question carry One mark.

1) fEa S99 dnif 2 3 2U IS AHTST AUTH Iyt Jeit I5 |
How many parallel tangents a circle can have at the most?

a) g (Two) b) f3& (three) ¢) Ma3 (infinite) d)f'E?j'f f&g" a=t 3t (none of these)
2) f&a 9T Tt fXshe FUgH Juret JEnit I& |

How many tangents can a circle have?
a)‘ér (Two) b) f€x (one) c¢) »id3 (infinite) d) fAST (zero)

3) far fig Q3 fEx 939 & AUTH JuT & BaTEt 24cm I 3 Q ©F BAT Je9 3 e 25em JIST a9 Er

WMIT  fen™ J=A:From a pointQ,, the length of the tangent to a circle is 24cm and the distance of Q from
the centreis 25 cm. The radius of the circle is :
a) 7cm b) 12cm c) 15cm d) 24.5cm

4) fex fifg P 3 €1 0 ATT T8 a9 3 € AUIH JU=T PA 3 PB I& 7 fEx g1 &% 80T d& g&rg@etnr
5 3T LPOA =7

If tangents PA and PB from a point P to a circle with centre O are inclined to each other at angle of 80°,
then £POA="?

a) 50° b) 60° c) 70° d) 80°

s)fegfag A, 7 €3 949 € AT 3 Sem AT 3 J, IAI 3 AUTH 4T f BFE 4 cm I, A € 07T
form Uz a9 : -

The length of a tangent from a point A at distance 5cm from the centre of the circle is 4cm. What is radius of

the circle:-
a) 4cm b) 2cm c)3cm d) 5cm

6) € AHAEd! 999 & »IU fen™A 5 cm M3 3 cm 76 133 939 ©F BA AT & Saet Uu3T 39 7 8¢ 99
FUJH Sg<t J< | Two concentric circles are of radii 5cm and 3cm. Find the length of the chord of the largest

circle which touches the smallest circle.
a) 7cm b) 8cm c) 14cm d) 10cm

7) Ad fox g P 3 O deg T8 faR g ‘3 PA, PB AUIH Iy’ wnyA 39 80° @ Jt ‘3 galmi JT 3t
£POA E3T J :If tangents PA and PB from a point P to a circle with centre O are inclined to each

other at angle of 80° then 2POA is equal to
a) 50°b) 60° ¢) 70°d) 80°

8) U9 T I ed eAE! 99 AieT § AHESTHS 9 J | (AT / I%3)

The centre of a circle bisects each chord. (True / False)

9) fox gag <t fage f&x It AU JuT J<t T 1 (ATt / a1%3)

A circle has only one tangent. (True / False)

10) f&x ur 7 fEx ga9 § & fien 3 deel 37 §Rg AuTH JuT afde I8 | (AT / I1%3)

A line which intersects a circle in two distinct points is called a tangent. (True / False)

11) {37 939 € niege! fig 3 999 ‘3 © AUIH Juret fieht 7 Aett 965 | (AT / a%3)

From a point inside a circle, two tangents can be drawn on the circle. (True / False)

12) f&g Jum 7 939 ¢ fea fig 3 aeet ) 8RS FfJe IS |

A line intersecting a circle at one point is called a



13) fEx AUTH U T 999 &% gfenT AfsT fig afow8er J|

The common point of a tangent to a circle is called

14) fea gag it AHT3T AUTH Juret gt I& |
A circle can have parallel tangent lines at most.
15)f&x AU9H Ju a9 & fagnrt 3 Jeet J;
A tangent to a circle intersects it in point(s).

Areas related to circles

Each question carry One mark.
1. ¥ 993 2 ¥39e% T TIYHT
The formula for the area of a circle is:
i.A=T1r i. A =2mr iii. A = mur? iv. A =1/2mr
2. A9d f¥q T4d T fon™ 14 Ahiled I, 3t forer wigu ferm =it J 2
If the diameter of a circle is 14 cm, what is its radius ?
i.7cm ii. 14 cm iii. 21 cm iv. 28 cm

3. Had fig gag ©r W 10 feardwi J, 3T feATT 83de8 1 J 2

If the radius of a circle is 10 units, what is its area?
i. 20T square units / 20 n 2Jd1 faardni ii. 100m square units / 100m <Jd1 faqrepyi
iii. 200m square units / 200 n 2Jd1 faqrehi

4. 6 Hohied = WA 2 45 f3ardt R dedl AT @& Aded T 83des O;

The area of a sector with a central angle of 45 degrees in a circle of radius 6 cm is:
i. 31t square cm / 3nTJI HAHIEd i 6m square cm / 6 JdI H
iii. 9t square cm / o TJIT HAHIET  iv. None of these / fodat fed et &t
5. 60 f3ITdt € dedl d< w3 8 Hohiled © Wd o8 daq P9 ffa gy <t Sardt 9
The length of an arc in a circle with a central angle of 60 degrees and radius 8 cm is:
i. 41t cm ii.8m cm iii. 121 cm iv. None of these / fEdat feg aet &t
6. ¥ AHAEd 994! fegad ¥39 J
The area between two concentric circles is:
i. AfEd / Constant
||@W@WUW%€@H@W/ Proportional to the difference in their radii
iii.@W@WW%@H%@WWAnversely proportional to the difference in their
radii
iv. WHEMU3/ Unrelated to the difference in their radii
7. AFd UT § T 131 AT J 3t BT 191 1 439 fa< gese J ?
How does the area of a circular garden change if the radius is doubled ?
i. fEU”UWHFT-l'i?Tf[/It becomes half ii.fEUU"d’Eﬂ?’Wé/ It becomes four times
iii. fezm“wa:wwﬁ/n becomes eight times
iv. W%Hﬁ@éﬂt remains the same.
8. iad 12 Adhied © W3 =% i 993 feg fq Hded T 4398 36n <991 HoHied J, 3t f3ardt e
JEd AT THY A J 2
If the area of a sector in a circle with a radius of 12 cm is 361 square cm, what is the measure of the
central angle in degrees?
i. 30° ii. 45° iii. 60° iv. 90°
9. Wdd S Td T UTT 20n cm I, 3 72 31 © dedt d< = fEq gy <t Saret fdat J 2
If the circumference of a circle is 20T cm, what is the length of an arc with a central angle of 72
degrees?
i. 2mecm ii.4m cm iii. 6T €M iv. 8t cm

10.89d © ATl 9adi © »JU feu™ 1:3 © »igu3 39 9, 31 §IaT © 9391 © »igut3 ot J<ar »

If two concentric circles have radii in the ratio of 1:3, what is the ratio of their areas?
i.1:3 ii. 1:9 iii. 1:6 iv. 1:12



11. ¥ q@TaTg 378 T WG 14 Hied o7 J1 38T 1 BJISd1 ¥3dSB it J 2

A circular pond has a radius of 14 meters. What is the approximate area of the pond?
i. 154 m? ii. 308 m? iii. 616 m? iv. 1232 m?

True/ False

1. U Jardl gAH 99 © Ud T 99red I J

The arc length is always equal to the radius of the circle.
2. YT Bl A< © dedl AT T mduTSt I

The arc length is proportional to the central angle of the sector.
3. Y Barel & IEH d96 T SIHST

T BErei=360° dTdl dx2mr

The formula for calculating arc length is
Arc Length=360°Central Anglex27r.

4. 7dd 2 d99f T T fEq faar J, 37 ffa dedt aT <@ ©< Jagt '3 9 © Surel g9rad It

If two circles have the same radius, the length of arc on both circles with the same central angle
will be equal.

5. i daa feg, Tru <t St gy © & »i3 fiont § 136 <! Hier <t ot © g9rgg d&t I
In a circle, the arc length is the same as the length of the chord connecting the two end points
of the arc.

6. 9« Burdl g9 2 WJ I HI3J et JI
The arc length is independent of the circumference of the circle.

7. ﬁag 10 Hhieg © W3 T d9d i[9 fan Aged  dedt d< 90 f3ardl J, 3t dag & gy & dardh
14 dI

If the central angle of a sector is 90 degrees in a circle with a radius of 10 cm, the arc length of
the circle is 14.

8. I <t Bure i I Hu I

The arc length is a linear measure.

Surface Areas and Volumes

e Each question carry One mark.
1. What is the formula for the volume of a cube if [ is side of cube?

A fan we & g7 [ I 3 fore wiess e §39 off I=4r ?
a) V=12 byVv=1[3 AoVv=6[ dyV=2I

2. The surface area of a cuboid is the sum of the areas of all its:

a. Faces/um b. Vertices/ fadg
c. Edges/faaa d. Diagonals/feags

3. The formula for the lateral surface area of a cylinder is:

2% S UAS AT T H3I I
a) 2mrh b) Mr? c) 2mr(r+h) d) 2mr

4. The volume of a cone is given by the formula:

Hg € wife3s T 7§39 3
a)V=>1/3)mr’h  b)V=mrth ¢V =2/3n d)V = 4/3nr’



5. What is the hemisphere's volume formula in terms of the radius (r)?

Add WIT I1B T Wy fand (r) I 3t fore witss e 539 J=dT

a.V = @4/3)mr’ b.V = (2/3)nr’ c. V= (1/2mr d.V = (2/3)mr
6. The volume of a hemisphere is half the volume of

I JI¥ T WSS ... e WRiSs e wigr ger J |
a) Cone/Hd b) Cylinder/S8s  ¢) Sphere/J&"  d) Pyramid/fugfizg

7. Surface area of a sphere is given by the formula:

I8 A AT U3ISB T HII I :
a) A = 4mr? b) A = 2mr? o) A = 3mr? d) A =1’
True/False : AJY IBI

1. The volume of a cube is equal to six times the length of its side. (True/False)

WE T fe3s GRS 3 & 398 © 6 JIT I I (A /IB3I)

2. The total surface area of a cuboid is the sum of the areas of its six faces. (True/False)

WEE T 5% 93JeB OFT 6 Ui © 93928 © AF © §99d J1 (AJt/JI1B3)

3. The volume of a cylinder is given by the product of its base area and height. (True/False)
85T T Wt3s §AC wWord © §3Jes W3 G & Jre enrgr 3T Aer JI(AJl/Is3)

4. The lateral surface area of a cone includes the area of its base. (True/False)
i 79 <t Tag A3 © 939w €8 fore wiorg T 939es AHE Jer JI(Ad/I1%3)

5. The surface area of a sphere is proportional to the square of its radius. (True/False)

IS T 9392 fore wag fowA @ 2391 © wayr3t Jer J1 (A /IS 3)

6. The volume of a cone is one-third the volume of a cylinder with the same base and
height.(True/False)
gI=d wd 3 8udl @8 B Hg T wife3s 98 © wife3s T e f3gd der I

(At /3B3)

7. The Volume of hemisphere is half the volume of a sphere with the same
radius.(True/False)

IO IS T W3 IS © wit3s T wigr ger J Add ffdst T worg 5Ir=d
JI(AS/IB3)

8. The diameter of a sphere is twice its radius.(True/False)

IS T fowrH fore wag ferr T gare e J1 (AO/T183)

9. The lateral surface area of a hemisphere is half the lateral surface area of a complete
sphere.(True/False)
wIY JI¥ <t T A3 T 9398 IS IS & TEd A3 & §3IeH T WO geT I

(At /I1B3)
Fill in the Blanks:
1. The of a cube is found by cubing the length of one of its sides.
WE A ST TUTIGS S Y3 Jer J|
2. The formula for the total surface area of a cuboid is
WS S I AT T HUIISH ___ geT J|

3. The volume of a cylinder is calculated using the formula

g% T nifess Jar J|

4. The lateral surface area of a cone is given by



HY T Td9 AT T 5396 ger J1
5. The volume of a hemisphere with radius 'r' is

Hog vIufent™d ‘v’ I 3T »igua® T mTfE3s Jer T
6. The surface area of a sphere is times the square of |ts radius.
3% o AT T US9EE GFF niSufeA T =ga @ geT I
7. The volume of a sphere is ...... cubic centimeters if radius of a sphere is 5 cm.
J% T »IUfA 5 AH J< 3T 3% © nifess WE AH I |
8. The lateral surface area of a cone can be calculated using the formula Lateral Surface
Area=nrt, where € is the of the cone.
Hg € 299 AZT € 8§39e8 Ha9 ul Jer I 3 f&F | vy <F Jet J1
9. The formula for the lateral surface area of a cone is.................
i & T99 AT T U39SH Jer JI

10. Formula to calculate the volume of joint figure formed by combining a cone and a
hemisphere with the same radius is............
IIET MITUFTH T HF W3 »9Uuds 3 89 oF & »ifess e J

11. The formula for the total surface area of a sphere is..........
IS IBE AT T USISE T HIT e I

12. The formula for the volume of a cone is.........
HY € nfess & 739

13. The surface area of a hemisphere is square units if the radius is 5 units.
A9 wIufen™l 5 fearet 3=, nigudiss & AT 7 u39eH 2941 feareft J<ar |
Statistics

e Each Question carry 1 mark

1.0n tossing a coin the probability of occuring head is

& fia & 8e8e 3 I3 wige <t Agear fdat It

(@)1 (b) % (c) % (d)o

2.0n throwing a dice, the probability of getting prime number is

g uR & dce 3, WS Aftmr wigE & Agee [t I=ah

(@)1 (b) % (c) % (d)1/3

3.0n throwing a dice, the probability of getting even number is

gy & dee 3, iz Aftmr wige & Agres fHat It

(a)1/3 (b) % (c) % (d)o

4. A card is drawn from the set of 52 cards. The probability of getting a queen card is 1/13  (T/F)
52 Ufa & 37 &9 i 3T sifenr Aer 3| S T 43T Wi <t #ges 1/13 I (A /3183)

5. Two players, Sangeet and Rashmi, play a tennis match. The probability of
Sangeet winning the match is 0.62. The probability that Rashmi will win the
match 1s ...

éﬁs@mﬂss’amﬁéﬁme*ﬂaﬂs@ammﬂséﬁﬁsémw 0.62 I Imt € No fAz= <t
Hoes'. .. Jded 2

6. From a well-shuffled deck of 52 cards, the probability of getting a king is
9Tt 3 ST I 52 Ut & 37 79 K semg wige & Heee et It

(@)1/3 (b) % (c) % (d) 1/13
7. In a bag, there are 5 red balls and 7 black balls.The probability of getting black ball is.............
ffa S91 2 39 5 &% Jier w3 7 I8 Jief I6| I&t die mle & Haea........... 3

8.If the probability of an event happening is 0.7, then the probability that
event will not happen is 0.7 (T/F)



Add fafl Wea @ TUds & HeeaT 0.7 3 37 8T & TUds € Heear 0.7 J=dtt | (At /T1B3)

9. A number is chosen at random from 1 to 10. The probability of selecting a
number multiple of 2 is...

1310 39 & o3t &5 e d99 gfewr e J| gfewr famr S99 2 T geia wige &t Ages......J=at
10.Two unbiased coins are tossed simultaneously, the probability of getting two heads is

< fifomit & fads Garfenr mier I © o3 wie & Aeres fdat It

(@1/3 (b)% ()% (d)1/6

11. A coin is thrown twice. The probability that at least one head is obtained is

3 i1 § € =79 Garfonr e 3| Ui e fig i3 Wi & Aeres fiat St

(@1/3 (b)% (c)% (c)1/6

12. A ticket is drawn at random from a bag containing tickets numbered from 1 to 40. The probability that the
selected ticket has a number which is a multiple of 5is 1/5. ( T/F)

&g 891 €9 1 3 10 fedet I5, fan &5 feq feae nmed et At 1 o€t ot feae 5w e I & Harear 1/5
JI (7dt/ars3)

13.0n throwing a dice , the probability of getting a number greater than 5 is........

s Ui & How 3 A I 37 b5 W & Heea......... )

14.A card is selected at random form a well shuffled pack of 52 cards .The probability of getting red card is
13/52(T/F)

52 Ufani & 3T &9 g U3™ wioresd dfenr Aer I8 da1 e U3t »ie &t Harear 13/52 31 (Fdt/arss)

15. A bag contains 3 red balls and 5 black balls. A ball is drawn at random from the bag. The probability that the
ball drawn is red is

B gq1 <9 f3a &g Jief w3 Un o Jiet I | 891 &9 i Jie worsd oel Al J1 &3 Jie e &
HAIgesT fdar Jeaf
(a) 3/5 (b)3/8 (c)5/8 (d)5/3

Probability
Each question carry One mark.

1. What is the probability of an impossible event? & wHST WeaT & Ag<a ot J?
a)l b) O c)-1 d) 0.5

2. Two unbiased coins are tossed .What is the probability of getting at least one head?
< fHa 88 I8 e e g fid3 we & Ages U3 ad |

a) % b) 1/6 c)1/3 d) 1/2

3. What is the probability of a sure event ?  fod forfgs wea ©f e of J?
a)1l b) 0 c)-1 d) 0.5

4. Which of the following is not the probability of an event?

It fSfmit i faadt fai wes & Ages adt I Adel?

a)2/3 b) 5% c)15% d) -0.5

5. If P (E) =0.07 then what is the probability of P(not E)=? HAJ P (E) =0.07 J 37 P(not E) af J?
a) 0.95 b) 0.93 c) 0.99 d)o.1
6. On throwing a dice what is the probability of getting an odd number?

8 yh § Hee 3 <9 Hitmr wige & Agreer ot 7



a)1/2 b) 1/6 c)1/3 d) 3/2

7. A card is drawn from the set of 52 cards. Find the probability of getting a queen card.
52 Uf3wit S 37 &5 g U3 dfonr AT 3 Ages U3 JJ fa dfenr fgmr J3rsan e J |
a)1/25 b) 1/53 c)1/26 d) 1/13

8. Afish tank has 5 male fish and 8 female fish. The probability of fish taken out is a male fish.

o Hed W 9 Ud a9 Hedh w3 s Her HesMI I6 [HI<aT U3 Jd J JEl It Hed &g
HEST I

a)5/8 b)5/13 c) 13/5 d) 5

9. A card is selected at random from a well Shuffled Deck of 52 playing cards .The probability of its
being a face card is.

& Jaft 3t S A1t 52 Uit & 37 9w g U3 dfenr Aer J1 Ageer usTad
dfenr famr U3 3Adg =T J|

a) 3/13 b) 4/13 c) 6/13 d) 9/13

10. If a dies rolled, what is the probability of getting an even number greater than 4 ?

A9 g A § Hfewr Aer I 3 4 3 <3t faA3 Aftmr w8 & Aes Uzt I3 |
a)2/3 b)1/3 c) 4/5 d) 1/6

11. Probability of an impossible event is ....... WHIT WSS T AF=HT ... ﬁ@é I

14. Sum of all possible eventsiis....... It Hee Weae T A7 ... Jer I

15. The probability of occurrence of an event + non occurrence of an event is ...........
TR Wear @ TUIS ©f AIES +& TUIS ©f HIEd =.............

16. On tossing a coin the probability of tail is 1/2 (true/ false )

i fifad & @esE 3 ue wige & Asear 1/2 I&t I | ( At /31B3)

17. On throwing a dice the probability of getting a prime number is 1/2 (true /false)
8 uA § Hee 3 warH At wigE & Heesr 1/2 3 | (AR /3183)

18. In an event if P(E)=0.90 then P(not E)=0.20. (true /false)
ffa wea f&g AdIP(E)=0.90 I 3 P(not E)=0.20. (AT /IB3)
19. A card is drawn from a well shuffled pack of 52 cards .The probability of getting a black card

is1/13. (true /false)
52 Ufawt & 377 T e U3 sfenr Aer I & 391 © 43" wige ©f Ag<ear 1/13
I 1(AR/ IB3)

20. P(E)+P(not E)= 1 (true /false)
Real numbers

e Each question carry two marks
1. I JTHHS Tt &% 6 »i3 20 T HAS. W3 BAL. UST I |
Find the HCF and LCM of 6 and 20 by the prime factorisation method.
2. 79 a9 fx ot fan yrfgf3a Aftmit n T &gt Aftmr 6" »ig fAgd ‘3 AHUZ J AT J | Check whether

6"can end with the digit 0 for any natural number n



3. M3 JEsET fedt 3% 6,72 73 120 T H.A.E. M3 B.A.S. UST I |
Find the HCF and LCM of 6, 72 and 120, using the prime factorisation method.

4, 3825 & M3 JeaUsT T JTHEH © JU T fed |
Express 3825 as a product of its prime factors.
5. 5005 3 »EH JIEaust € IT6e® © U K9 By
Express 5005 as a product of its prime factors.
6. 140 3 »ig™ Jeaust € Jeaes € gu 79 By
Express 140 as a product of its prime factors.
7. 2613 91 T H.A.E. N3 B.A.E. UST ad N3 ferd! A9 a9 fq Aftmre! o gie6e® =H.A.S. x
B.H.S
Find the LCM and HCF of 26 and 91 and verify that product of the two humbers =LCM x HCF.
8. 336 N3 54 T H.AS. »3 B.A.L. UIT 9 »i3 fordt A9 &9 fa Aftmi= ¥ J56e® =H.H.T xB.A.T.
Find the LCM and HCF of 336 and 54 and verify that product of the two numbers =LCM x HCF
9. WM JEsHs fedt &% 12,15 »3 21 T HAS. W3 B.A.E. UST o9 |

Find the LCM and HCF of 12, 15 and 21 by applying the prime factorisation method.
10. EH JESEs fett 3% 17,23 w3 29 € H.A.Z. »3 B.H.T. U3T JJ |

Find the LCM and HCF of 17, 23 and 29 by applying the prime factorisation method.
11.  fig a9 fa V5 f&a niufere wfimm T 1Prove that V5 s irrational.

12. Ao &9 I 6+ V2 ¥ niufgis Bfum™ J 1 Prove that 6+ V2 s irrational.

Polynomials
e Each question carry two marks
1. 2 WSt ggue x° -3 © fHed u3T 49 »i3 geiar @ fegqrg Auut € AYTET € 719 &91 Find the
zeroes of the polynomial x? — 3 and verify the relationship between the zeroes and the coefficients.
2. T WSt gguT 4s’-4s+1 ¥ fAST U3T 9 i3 et @ fR9x9 A¥ut € AYTEr € A9 &9 | Find the
zeroes of the polynomial 4s?-4s+1 and verify the relationship between the zeroes and the coefficients.
3. 2 WSt gguT 6%° - 3-7x ¥ fHET U3T I »3 gieiar @ fegarg Heut € AYel € 719 &9 | Find the
zeroes of the polynomial 6x? - 3-7x and verify the relationship between the zeroes and the coefficients.
4. T WSt gguT 4u?+8 T fAST UsT I3 i3 et @ fSO9 AYUT €t HYTET € 779 &9 | Find the
zeroes of the polynomial 4u * +8 and verify the relationship between the zeroes and the coefficients.
5. 2 WSt ggue 3x2 —x-4 © fHEd u3T 49 »i3 gieiar & ffgarg Huut € Aarel € 719 &9 | Find the
zeroes of the polynomial 3x* —x-4 and verify the relationship between the zeroes and the coefficients.
6. T WSt gguT U3T &9 AT AT T 73 i3 I56es gHe™d | M3 1 I | Find a quadratic
polynomial if the sum and product of its zeroes is 1,1 respectively
7. < WSt gouw U3t &9 faAe fHEa T 743 w3 I56e® gHI 0 »i3 /5 I& | Find a quadratic
polynomial if the sum and product of its zeroes is 0 and V5 respectively.
8. T WSt gguT U3T J9 AT fAgT =7 73 »i3 I56es gHe™d -3 »i3 2 I | Find a quadratic
polynomial if the sum and product of its zeroes is -3 and 2 respectively.
9. T WSt gguT U3T J9 AT fAga T 73 »3 I56E% gHE'T 4 »i3 1 I& | Find a quadratic
polynomial if the sum and product of its zeroes is 4 and 1 respectively
10. < WSt gguT UsT a9 faAT fAgat T A3 »i3 dEae® gHE9d 14 »i3- 14 I& | Find a quadratic
polynomial if the sum and product of its zeroes is 14 and - 14 respectively.

Areas related to Circles

e Each question carry two marks

1. w3y fanA 4 Adhiteg @8 8 gag © g fanrdt H3 T 93988 U3 39, far ©F a< 30°
JI

Find the area of the sector of a circle with radius 4 cm and of angle 30°.

2. 6 Achilca wigg-fowr @8 iy gag © ffa wag-fewdt U3 T 8939288



U3 39, fAeT d€ 600 J=|

Find the area of a sector of a circle with radius 6 cm if angle of the sector is
60°

I o H 21 cm T8 I99 © 8 g7 awg 3 60° ©F de Serger J
IY ©I" F=78 I WIg-fewrdt 3 T 83928 U3T I3 |

In a circle of the radius 21 cm, an arc subtends an angle 60° at the centre.
Find the area of the sector formed by the arc.

12 cm WIY fonr @3 g Iag ©f Jt Aler deg 3 120 ° © de gt
J| Fd13 JIIE3 © 93deB U3T I |

A chord of a circle of radius 12 cm subtends an angle 120 © at the centre.
Find the area of the corresponding segment of the circle.

15 m 37 3 fod TIarard W & ATs © g 36 3 341 fa8 a5 43
& 5 m gl It &8 Hfonr I I | AT € 8A 9T T H3IEH U3
a9 frifg U3 Wg 93 e J|

A horse is tired to a peg at one corner of a square shaped grass field of
side 15 m by means of a 5 m long rope. Find the area of the part of the
field in which horse can graze.

15 cm W3T A @8 i g9 T 3 Ale” aed 3 60° T de gergat
J| HI3 BY w3 Sow g93 HI' T 539 UTT S|

A chord of a circle of radius 15 cm subtends an angle of 60° at the centre.
Find the area of the corresponding minor and major segments of the circle.

fam a9 2 € TEUT I, wuR R o & ffd TR § SJ< ol I9d
TEYT, faret U3t & S9 25 cm 3 W3 115° © d€ 39 WH I ASH 99
AT J| TEUST © 99 91 &' e 93928 Ae J Ao J U3T a9 |

A car has two wipers which do not overlap. Each wiper has blade of length
25 cm sweeping through an angle of 115°. Find the area cleaned at each
sweep of the blades.

g £331 i<g Wis IT1 I6 , H SI=d Tt 3 St Je I |
8391 § 45 cm I -fenA T i AU

T9d Hae J2 for S & BIr3g 391 © fegad © 939es U™
I |

An umbrella has 8 ribs which are equally spaced. Assuming umbrella to be a

flat circle of radius 45 cm, find the area between the two consecutive ribs
of the umbrella.

HIH & AHTd fY 7% AFT € J&' AfF3 g ©f 937<al B © B8

fe Brdte TG 80° AT TS K wigh feanrit vz €T 16.5 faditeg < gt S &% Jarer
YarH 3%'ger J | med ©@ 8F 991 T 839e8 U3T Jd friA €8 Aot § 83! idSt 7
|

To warn ships for underwater rocks, a lighthouse spreads a red coloured light over a sector of
angle 80° to a distance of 16.5km. Find the area of the sea over which the ships are

warned.



10. I ws & et @& gdt & St 14 cm J| fom & o s fife e
3 I3 839 T 839EH U3T I |

The length of minute hand of a clock is 14 cm. Find the area swept by the
minute hand in 5 minutes.

Probability
e Each question carry two marks

1. On tossing a coin find the probability of getting a (i) head (ii) tail.

i fifa & 8e8E 3 HI=s uz™ ad (i) 63 yuz I= < (i) e yuz Je <t

2.0n throwing a dice,find the probability of getting a prime number.

s uA & Hee 3, s Hitmr wiges & Asrear usT 33|

3. On throwing a dice,find the probability of getting an even number .

sy & Hee 3, faAz Aftmr wiges & Ases usT 33|

4. A card is drawn from the set of 52 cards. Find the probability of getting a queen.

52 Ufgni & 37 ff8 fia UsT dfewr Afer I [Ag<s U3™ ag f dfenr famr U3 Sam & J|
5. From a well-shuffled deck of 52 cards, what is the probability of getting a king?

gait 37 3T I 52 Uf3nit & 37 9 B srema yu3 It & Agear ot J 2

6. In a bag, there are 5 red balls and 7 black balls. Find the probability of getting black ball.

i 991 © &9 5 &% Jier w3 A3 T8 Jiet Is |t Jie wige S Ag<sr U3 ol

7.1f the probability of happening of an event is 0.7, then what is the probability that event will not

happen?
Aad foi Wea™ © TUds & AIes 0.7 J 37 §AT & TUds ©f Ages ot Judit 2

8. A number is chosen at random from 1 to 10. Find the probability of selecting a number which is

multiple of 2.
1310 33 <t =3t *T fa d59 gfowr AT JIFs<s U3™ a3 g gfewr famr &89 2 T Irex J1

9.Two unbiased coins are tossed simultaneously, find the probability of getting two heads.
< fHfomit & fed& Garfenr e 312 fi93 wige & Asear U3 53|

10. A coin is thrown twice. What is the probability that at least one head is obtained?

i fifa & © Tr9 Grfonr Aer I W We &g fg3 we &t Hees ot I?

11. A ticket is drawn at random from a bag containing tickets numbered from 1 to 40. Find the

probability that the selected ticket has a number which is a multiple of 5.
ffa gq1 &9 1 3 10 feae I, A &8 B feae noad et ATl J1 Ag<s U3 a9 fJ ot ardt
fege 5 @ Jreid Il

12. On throwing a dice find the probability of getting a number greater than 5.
ffa yh § Hee 3 A 3 <u d99 wBE & Hees uzT IJ|
13.A card is selected at random from a well shuffled pack of 52 cards .Find the probability of getting a

red card .
52 Ufsmi & 37H @9 9 U3 wigrad dfen AT J |Haes U3 J9 fJ Jfanr famir U3 &8 Jar
o Il




14.A bag contains 3 red balls and 5 black balls. A ball is drawn at random from the bag. What is the

probability that the ball drawn is (i) red? (ii) not red?
g gq1 29 3 35 Jiet w3 Uq Framf diet I | =491 9 8 Jie nioad el At J1 He=s
U3 J9 I J<t It diT 1) I 2)8S &t I

Arithmetic Progressions

e Each question carry four marks

1. AP.:3,8 13, 18,. 2 fdaer ye 78 I ?

Which term of the A.P. 3, 8, 13, 18, ... is 78?
2. AtAP.11,8,5 2. . T figue -150 3 ? fa€ ?

Check whether -150 is a term of the A.P. 11, 8, 5, 2, ...? Why?
3. BAAP. T 31 UB U3 a3 fAAE 11 U= 38 I w3 1687 UT 73 I |

Find the 31 term of an A.P. whose 11" term is 38 and the 16" term is 73.
4. f3& gt Tt {8 Aftwer 7 578 U I8 ?
How many three digit numbers are divisible by 77?

5. nT 503 ¥s € B, © nid JIfE3 SIMIF 63, 65, 67... W3 3, 10, 17... © n? UT SI=d
Jedr ?

For what value of n, are the n" terms of two APs 63, 65, 67, and 3, 10, 17, ... equal?

6. TR AP. S TEWI ST UT T AT 4I NI 623 102 USf ©r g 4J | TR AP. T UTR
Sy usTad |

The sum of 4" and 8™ terms of an A.P. is 24 and the sum of the 6" and 10" terms is 44.
Find the first three terms of the A.P.

7. B AP.fR91=28,S =144 "3 &5 9 UT Il a U™ I3

Given | = 28, S = 144 and there are total 9 terms. Find a.

8. faA AP T Ufg®™ UT 5, wif3H UT 45 W3 A3SS 400 I UT™ T Afh w3 AT wizg y3T

JJ1 The first term of an AP is 5, the last term is 45 and the sum is 400. Find the number

of terms and the common difference.

9. i@ fda;, as..., an, ... 3 AP =gt d Add a, = 3+4n J=

Show that a;, a, ..., an, ... form an AP where a, = 3+4n

10. WA ufadiv L0 U6 HUgs Afomiret B AFe8 U3 33 H 6 &8 AUl JE|

Find the sum of first 40 positive integers divisible by 6

Applications of Trigonometry

e Each question carry four marks.

1.Ravinder, a painter, has to use a ladder to paint the high walls and ceiling

of homes.When Raju was observing Ravinder paint his house, he told his friend
that he can calculate the height of the wall upto the point where the ladder




reaches by using his knowledge of trigonometry.A ladder 15 m long makes an angle of 60° with the
wall. On what point on the wall the ladder will touch?

gféeg, fBq Uag, § wat Tt Qi Jfut w3 §31 § U 795 Bet Ut &t =93 waat Udt J1 7
g Ifes & »Ud Wd § U< dae oY fgar 7, BAd »ud ©r3 § faar fa 89 f3aehizt © mnud
fams & =93 99a U < Garet T forme Bar Age J fifg Ut udedt J11s Hica St Ut =
B 60° T IS GG Jlly @ fom Rig 3 Ut 77 Aeret 9 2

2.India is one of the most vulnerable countries to get hit by tropical
cyclones in the basin, from the east or from the greater. A tree breaks due to
storm and the broken part bends so that the top of the tree touches the
ground making an angle 30° with it. The distance between the foot of the

tree to the point where the top touches the ground is 8 m. From what point
tree is broken.

9193 Yde 3 7 UsH 3, 9 <9 3t dade3 g ygifes Je st
78 3 aHad ot oY ffq J1 3es 9% ffq Tdu3 Se AT I w3
o I fdm fer g ga AT Ifa o g mis g gaw d
fig fog 30° d< g8TT J1 Ju < Ugi < fegara <t vt Gr fig Sa e
firyd mts & gIT1J 8 Hicd J1 TIu3 fam fife_3 gfenr J=are

3. Kite flying festival in India falls on 14th of January every year,
marking the arrival of spring and the transition of the sun into

the Makara Rashi (the Capricorn zodiac sign). In quite a few
states in India, Makar Sankranti is considered as a major

harvest festival. Kite- flying on Independence Day is a

tradition in north India, especially in Delhi, Lucknow, Bareilly and
Moradabad. A Kkite is flying at a height of 60 m above the ground. The =
string attached to the Kite is temporarily tied to a point on the ground. The c B

inclination of the string with the ground is 60°. Can you tell the length of the string, assuming that there
is no slak in the string.

3133 &9 U3a1 §378< © 3899 I9 A 14 Axedl § I21 J, 7 IH3 93 © WIHG W3 §aA =
HIIITH (HrIITH) 29 Ufdedsa § TIAETT JI 93 © I% It feg, HadH o3t § e Yy <l
T f38aa Hfenm Afer J1 €33t 3793 g ym 393 I8 Buat 938t »3 Howraw &9 fiq
yJdugr feg 533931 feen 3 u3a1 83t At J1 s 3 60 m Gt 3 ¥ u3a1 €3 I I 1 U3
&8 B3I Tra S wiEre qu g mits 3 e fig o1 g a1 fap 3 | mfts & urdl &1 3o
60° J1 fog iaal fa Tral f&9 ot few ot 4, ot 3t urar &t Saret er Aae 37

4. A TV tower stands vertically on a bank of a canal. From a point on the
other bank directly opposite the tower, the angle of elevation of the top of the
tower is 60°. From another point 20 m away from this point on the line joking
this point to the foot of the tower, the angle of elevation of the top of the
tower is 30° (see Fig). Find the height of the tower and the width of the canal.

g afgg ® ffq 33 Fq AR oeg ffu yz Jieeg = sla 7mand

D :
T e——2Am—> ( B

THY 323 ¥ J9 fig 3 Treg © g v B9 de60° J1 fom 3¢ 3 for g J20med w3 fom
fig § g ® wrug fiY &% He8e Tl Jur 3 Afg3 f¥a Jd fig 3 ceg € g T Eae ae
30° J (Y fJ39) | Treg ¥ € »13 &fgg & I3 uzT 93|

5.Two friends Anureet and Sirat plans to install slides for children to play in a park.They were
discussing how it is possible to find out the length of slide in a park by using their knowledge of
trigonometry. For the children below the age of 5 years, they prefers to have a slide whose top is at a
height of 1.5 m, and is inclined at an angle of 30° to the ground, whereas for elder children, they want to



have a steep slide at a height of 3 m, and inclined at an angle of 60° to

the ground. According to your opinion what should be the length of the
slide in each case ?

¥ TA3T »igd3 w3 Hig3 3 uda 29 Sfon © v3T BH AwTEst
BIreT < Wra g J1 B9 999 99 I Ws fg AT ®
WY famrs < <93 o9dd Udd feg AoEls o dgrE @ U3t
BIrgT a2 Haoe J1 sA® 3 e Gvg 2 dfont o, 89 fig
ASTES JUST UrT dde J6 fameT fgd 1.5 Hiegd < 8913 J<,
W3 TG ©30° % Jd=3 3o I, X fa =3 dfowi B8t g g

TSI gt I61 3m T GO 3 ABTES 99, w3 wHis <% 60° ¢ 37?'? sa|m1%w1%gaéa
oA feg AT & B fdat It ardiet J 2

6.7HIS © ¥ fé’g 3 820 m@%ﬁ foHg3 © fAyg3 ¥4d1 Add 7—ﬂ?§'—d’(transmission tower)@ 38
%3 fiTyg T G971 JE HTT 45903 60°J | HeTd Hiwta &t Gardt usT 33|

From a point on the ground, the angles of elevation of the bottom and the top of a transmission tower
fixed at the top of a 20 m high building are 45° and 60° respectively. Find the height of the tower.

7. 783 Hiwrg ® »rug fig 3 9 forrgs © figg © €97 S 30°d w3 foHrg3 © wmag fig 3
Hiatd ® fiyg T €97 a< 60° J1 Aad Hiarg 50 Hieg B4t I 3t forraz < Gt uzT 94|

The angle of elevation of the top of a building from the foot of the tower is 30° and the angle of
elevation of the top of the tower from the foot of the building is 60°. If the tower is 50 m high, find the
height of the building.

8.7 m &4t forrgs @ fiyg 3 9 9% Treg @ fAyg @ G9= dT60’ J »3 fore U9 © ales dT
45° J| areg €t Gt usT 93|

From the top of a 7 m high building, the angle of elevation of the top of a cable tower is 60° and the
angle of depression of its foot is 45°. Determine the height of the tower.

9. Fed 38 375m By Beie IGA T fiud 3 TUT 3% © ATd AdW © ales dT 30° W3
45° I&| Aad Brdle IGA ® ffa ¢t uA 3 ¥ 7w TAd A © fasgs fug J< 31 < Aami <t
fegarast gdt uzT 33|

As observed from the top of a 75 m high lighthouse from the sea-level, the angles of depression of two
ships are 30° and 45°. If one ship is exactly behind the other on the same side of the lighthouse, find the
distance between the two ships.

10. f8q fifar Irmraar f¥a Wiwrg ® wmarg 39 At J1 Wiwg ® fig 3y ¥ wat f¥a ag &
30° T BB dE 3 BT J, 1 Hiwd T wUd < 8 A8 918 7% o1 It J1 & Hids 912 919
T RIS AT 60° J fam| fom fig 3 Hiwrd © wimarg S udae et J1a ©urrdt fn fapt At U3
d|

A straight highway leads to the foot of a tower. A man standing at the top of the tower observes a car at
an angle of depression of 30°, which is approaching the foot of the tower with a uniform speed. Six
seconds later, the angle of depression of the car is found to be 60°. Find the time taken by the car to
reach the foot of the tower from this point.

Coordinate Geometry

e Each question carry four mark.
1.x3 y 9 g Ado uzr a3 3t fa fg (x, y), et (7,1) w3 (3,5) 3 Sa=d gt 3 I= |

Find a relation between x and y such that the point (x, y) is equidistant from the points (7,1) and
(3,5).
2T (-4,6) fenit A-6,10) W3 B(3,-8) & HEBT T8 Juniz § faA wigu3 R 37 J |

In what ratio does the point (-4,6) divide the line segment joining the points A(-6,10) and B(3,-8).



3. f9eni A (2, -2) W3 B(-7,4) § THEGT T8 vz & 36 AHe 391 d9s @8 fHen € fogen nig
U3t |

Find the coordinates of the points of trisection (i. e., points dividing in three equal parts) of the line
segment joining the points A(2,-2) and B(-7,4).
4. fogarfas &3 fa fE (1,5), (2,3) W3 (-2, -11) AHIH TS |

Determine if the points (1,5), (2,3) and (-2, -11) are collinear.
5. /g 93 [ &t f&€ (5,-2), (6,4) W3 (7,-2) RS Mg f3gH € fug 95 |
Check whether (5,-2), (6,4) and (7,-2) are the vertices of an isosceles triangle.

6. 1T (1,2),(4,y), (x, 6) ™3 (3,5) R g F5 &= 3 B mi3g g39gA © fug I= 3T x 3 y Uz
el

If (1,2),(4,y), (x, 6) and (3,5) are the vertices of a parallelogram taken in order, find x and y.
7. 89 AHE39gH T U3de8 U3™ Jd fAe fadg oA o €9 (3,0), (4,5), (LAM3 (-2,-1) TS |

Find the area of a rhombus whose vertices are (3,0), (4,5), (-1,4) and (-2,-1) taken in order

Introduction to Trigonometry

e Each question carry four marks

1. AABC f@g, fAAeT 3= B AHaE 3, AB =24 cm, BC = 7 cm 3 | I&" fEf3mif T 1o U3 a3

(i) sin A, cos A
(i) sin C, cos C
In AABC right angled at B, AB = 24 cm, BC =7 cm. Determine:
(i) sin A, cos A
(i) sin C,cos C
2. AABCﬁH,#mE"aEBm@sélﬁaatanm%,?asfﬁs’?fr&waé|
sinAcosC+cosAsinC

In triangle ABC, right angled at B, if tan A = 13 , find the value of:

sin AcosC+cosAsinC

3. APQR @9, fArer d= Q AHAE J , PR + QR =25 cm W3 PQ =5 cm. sin P, cos P w3

tan U3 T HB U3T I3 |

In APQR, right-angled at Q, PR + QR = 25 cm and PQ = 5 cm. Determine the values of sin
P, cos P and tan P.

4. #aJtan (A+B)=V3nw3tan (A-B)= -;0°<A+B<90%A>B, FANMIBT S
y3gr

aJd |

Iftan(A+B)=\/3andtan(A—B): %;0°<A+BS90°;A>B,findAandB
5. {333 waU3 sin A, sec Aw3 tan A S cot A © UT f&g €6 |

Express the trigonometric ratios sin A, sec Avand tan A in terms of cot A .

6. fHOII (Prove)

cos A 1+sinA
+

. =2secA
1+sinA cos
7. g a3 13 sec A (1-sin A)(sec A + tan A) =1
Prove that sec A (1-sin A)(sec A + tan A) =1



Quadratic Equations

o Each question carry four marks
1. © WSt MfETS 2x°-5x+3 T HS UST I

Find the roots of the quadratic equation 2x%-5x+3

2. 79 I fq MiET® (x-2)%+1=2x-3 T W3t AHIETS J 7 &It
Verify whether the equation (x-2)°+1=2x-3 is quadratic or not.
3. 79 J9 I mET® x(2x+3)=x*+1 B WS I 7 &
Check whether the equation x(2x+3) =x?+1is quadratic or not
L. B WSt METE 6x*-x-2=0 © Y& Jeads et It us™ Sare
Find the roots of quadratic equation6x*-x-2=0 by factor method
5. @ W3t AiETs 2x*-Lx+3=0 T fgAeifHSe U3 a3 w3 fog fore ¥ & yfagst &
3T BArG|
Find the discriminant of the quadratic equation2x’-Lx+3=0 and then find the nature of its
roots.
6. T WSt AHISTS kx(x-2)+6=0 ST k T W™ ¥ U3™ 3 {3 @A © H9=3 Y8 J= |
Find the value of k for which the quadratic equationkx(x-2)+6 =0 has equal roots.
7. &S AfESt & 2 w3t milsgs © gu i< 98 -
B witzTerg UsTe T 939es 528m°d, US'E T 39 o3 € T 3 i g I ume
< ggrd w3 IFE U3 I3

Change the given situation in quadraticequation;-

Rectangular plot has area of 528m?, length of plot is one more than twice its breadth. Find the
length and breadth.
8. © Hftpwer U3T 93 fAs & 77 27 3 T6e8S 182 J|

Find the two numbers whose sum is 27 and product is 182.
9. k T fIg3 1% B8 € W3t Afiads 2x*+kx+3=0 T HI8d U8 I |
For what value of k quadratic equation2x’+kx+3=0 has equal roots.
10.f31 @ Wt MiiSgs © B U3T & 3x%-L/3x+L4=0
Find the roots of quadratic equation3x2-l-n/3x+L+=O
11. € BIT39 Us AYIs Aftmiet uzT a9 fagh € T9ar & 73 365 I9|
Find two consecutive positive integers whose sum of square is 365.
12. @ W3t AHIFGE 100x2-20x+1=0 © HB Jeas fedt It Uz Sre |
Find the roots of quadratic equation100x°-20x+1=0 by factor method.
13. A9 33 fd AHEa® (x+2)3=2x(x2-1) © W3 AHISIS I A &

Verify whether the equation (x+2)°=2x(x*-1) is quadratic or not.



Surface areas and volumes

e Each question carry four marks

1.

Rashid got a playing top as his birthday present which surprisingly had no colour
on it. He wanted to colour it with his crayons. The top is shaped like a cone
surmounted by hemisphere. The entire top is 5 cm in height and the diameter of
the top is 3.5 cm. Find the area he has to colour.

Jrire § HoHfes 3 392 © gu R9 fod &g fHfEmr i 3 Jat &t it famr
ATl €3 o 3 WUE A @ Ja1 &% 341 a9 gider J1 feg s¢ Ra g e
Wg T J fiAe GUg 8 wigh JigT sfenr Ifemr J| & & ydt @omdl 5 7 w3 frreT wiaT fenrH
3.5 AH J| §AC T3 341 3T Ae 8T 9338 U3 a3|

Two cubes each of volume 64 cubic cm are joined end to end. Find the surface area of the resulting
cuboid.

T WE figs’ (9 99 T Wfess 6L M 3, © AHG 28 § e & fox &H S Hier J) fen
&8 YU3 WEe T AFT € U39es U3 J

A Cubical block of side 7 cm is surmounted by a hemisphere. What is the greatest diameter the
hemisphere can have? Find the surface area of the solid.

I 7 Achiied @8 i weead gud € GUg ffa wiag Jiwr Jfemr Ifemrr J1 wigg I1d T wiag
oA St I e I? for 397 5 6H ©F AZT T ¥39e8 U3 FJ

From a solid cylinder whose height is 2.4 cm and diameter is 1.4 cm, a conical cavity of the same height
and same diameter is hollowed out. Find the total surface area of the remaining solid to the nearest
square centimeter.

€ue 2.4 Adhitea w3 fenvr 1.4 Adhiteg @3 fog on 95c &9 o 6o w3 foi forn T
s Hg warg v S @ 7ier J| Tl 59 &H T &3 3 &3 <41 AcHIcT 39 AT T 9333
FELCE]

A solid iron pole consists of a cylinder of height 220 cm and base diameter 24 cm which is surmounted
by another cylinder of height 60 centimetre and the radius 8 centimetre. Find the mass of the pole,
given that one cubic cm of iron has approximately 8 gram mass.

€t 220 Achitea W3 worg © fewrd 24 Adhiteg @8 i 2= fAr 3 €9 60 Adhiica w3
Iy fanA 8 Achiieg @ i J9 28c Jftpr Ifewr I, & fox I T YT gerfonr famr J| &R
U3 T I UIT IS, A fa fi&37 I 1 Achiiea® 89 © 379 8 I9H I

A solid is in the shape of a cone standing on a hemisphere with both their radii being equal to one
centimetre and the height of the cone is equal to its radius. Find the volume of the solid in terms of .

s &7 foxt wigy I8 3 uF K g © wrarg T J| 29 T vy fonrA fox Adhiteg I w3 dg &
Eud GF W fowA € S99 J| f£H &1 © Wit3s 1 © wWeH'd U3T ad|

A solid toy is in the form of hemisphere surmounted by a right circular cone. The height of the cone is 2
cm and diameter of the base is 4 cm. Determine volume of the toy. If a right circular cylinder
circumscribes the toy, find the difference of the volumes of the cylinder and the toy.

g &7 fuder fod woy 318 © wiard T J A 3 8 &9 gt g Sfenr J| fen #y < godl ©
HAehflea 3 w3 worg © fows 99 AchHieg J1 for fu3E T wiftss U3 a9 Add 89 Jddl 28
for e © yar yor GUg I= 3F e v3 iuFE @ nwfe3st T wisg Uzt Id|

A spherical glass vessel has a cylindrical neck 8 centimetre long, 2 centimetre in diameter; the diameter
of the spherical part is 8.5 cm. By measuring the amount of water it holds, a child finds its volume to be

cm

345 cubic cm. Check whether she is correct, taking the above as the inside measurements, and m=3.14

s JIag JU T 9936 ©f g 9% @ Wid'g ©f IIFes J fAA € Sgd 8 Achiicgd I w3 fewr 8
Achiteg I 7 3 Jigrarg 341 © fewd 8.5 Achiteg J| fer @9 39 7 Ade @8 uel & H3aTr



10.

HY F, e 59 & fog usT a3 of A 9936 © Witss 345 AchHiea? J Ao aa faGasg ©
€39 At I A &, o Hae I2 fa QuIas HruE wiedat Hus I3 n=3.14
A vessel is in the form of an inverted cone. Its height is 8 cm and the radius of its top, which is open, is 5

cm. It is filled with the water upto the brim. When lead shots, each of which is sphere of radius 0.5 cm
are dropped into the vessel, 1/4th of the water flows out. Find the number of lead shots dropped in the
vessel.

fos 5935 €8¢ Hg © wrard T JI feret Gordl 8 Hehiiead I w3 fere QUdT fiva T gy fevmr
U Adhiieg 31 f£g QU3 33 Ut &% 3fanwr J| A< for 5935 R i S a3 s fis e
I94 0.5 Hehited wiay fonmA T fig Jigr 3 urd A<t J 3t for &9 39 I8 Ut © 9 gumdt
91 999 foas A J| 5936 K9 urdht Jrshat fia St Jid & Afemr usT a3
A juice seller was serving his customers using glasses as shown in figure. The inner
diameter of the cylindrical glass was 5 cm, but the bottom of the glass had a

hemispherical raised portion which reduced the capacity of the glass. If the height of a
glass was 10 cm, find the apparent capacity of the glass and its actual capacity.(Use

m=3.14)

fod gH 2T T% WUE J[Is § 939 < foure et &% g e All 28sdd
J%H T wieddt fanH Un Adhiea A, ud3 e @ I58 wiarg 39 8 @3fanr
Jfemr wIg Ji5T /A, AR &8 9BA 8 ods AHger We I A<t At Aad foa oA & 69 10
Adhiea /it 37 o S W3TH Tds AHIE W3 8RS WS Ud6 AHIE U3™ &3]

Circles

e Each question carry six marks

1)

2)

3)

4)

[TH 99 § Fradt fig 3 it ardhnft FuTe Juet & ®aet 989 Jef J1

The lengths of tangents drawn from an external point to a circle are equal.

fAg a9 fa a9 € I799% UH gdt I8 93997 it ngHE ATgHE Ehff gt 3e9 3
AYSR dE a8 emi sl

Prove that opposite sides of a quadrilateral circumscribing a circle subtend
supplementary angles at the center of the circle.

g3 fg, XY W3 X'Y', O T3 @& faA ga9 ‘3 © AH'3T
AUTH < & w3 AUIH g C '3 AUgH Jur AB, XY § A ey ST
W3 XY, & B 3t I | AT I3 LAOB = 90° J | L7

In Given Figure, XY and X'Y' are two parallel tangents to a | [ %
circle with centre O and another tangent AB with the point of LY "
contact Cintersecting XY at A and X'Y’ at B. Prove that £ AOB e '

=90°.

4 cm WIT fenA T8 g S99 © I998 UR gIT” i
327 ABC for 3gF flffonr famrr 3 fa Sundz BD w3 DC,
frr €9 Fugw gD ©nar BC 33 I S Sardhf
FHTI 8 cm W3 6 cm I ([ fI39) | I AB w3 AC [ o
U™ |

A triangle ABC is drawn to circumscribe a circle of radius 4
cm such that the segments BD and DC into which BC is
divided by the point of contact D are of lengths 8 cm and 6 cm, respectively (see Fig.). Find the
sides AB and AC.

| 2

cL

—Hem—De—Bem——




Pair of linear equations in one variable

e Each question carry six marks
1. UYZ3S 4 fa fe'zr Miqaat T 73 A3 J 7 wHd38 2
X+3y=6, 2x-3y=12
Had fog Haz J 31 fore fsoar I8 J<ar »3 87 I8 U1 94
Verify that the given pair of equations is consistent or inconsistent?
X+3y=6, 2x-3y=12
If it is consistent then what is its solution and find that solution.

2. fo3 mitads 13 @ fedus fedt 87% J& 94

X+y=5; 2x-3y=4
Solve the pair of linear equation by elimination method
X+y=5; 2x-3y=4

3. fe'3 Miads 13 @ YSHEUS fetft 81% I8
0.2x+0.3y=13, 0.4x+0.5y=2.3

Solve the pair of linear equation by subsitution method
4. f&g vfgg feg carft fage fe forfas fage 3 fewer 3w it gt = fagrfenr mris &3 Afer 1
10 fadHies & gt &t faarfenr 105 JuE I w3 15 fadfted T &Lt fagrfenr 155 quE T i fsafes
fagent »3 Y=t fashftes fagfent &t 37 £ fonast g 25 fadHies @sT 3n J9s Bt fdat faafentT
raRICr) L

The taxi charges in a city consist of a fixed charge together with the charge for the distance
covered. For a distance of 10 km, the charge paid is Rs. 105 and for a journey of 15 km, the charge
paid is Rs. 155. What are the fixed charges and the charge per km? How much does a person have
to pay for travelling a distance of 25km?
5. 7% WA »ig fe9 1 83 T n3 99 fe9 1 wer T8 37 85 | o9 ges At J 1739 fAde 99 fe9 1
e T 3t feg S Tw At 318 umr a9

If we add 1 to the numerator and subtract 1 from the denominator, a fraction reduces to 1. It
becomes 1/ 2 if we only add 1 to the denominator. What is the fraction?
6. © Wigt T i Bftmr w3 BH ° »idi § 8B 3 931 Afimr T HAZ66T | A Hitmr R wigi T nizg 2 9
3t Aftmor YT | oA 397 Eoff felatort Aiftmret I57

The sum of a two-digit number and the number obtained by reversing the digits is 66. If the digits
of the number differ by 2, find the number. How many such numbers are there?

7. S fgae T 2 99 & 7 98 M3 6 diTi 3800 JUB fe'g ydlEhi | gmie fe'g BHA 3 €8 3 5 diTi17s0
JuE fog Hdldt | Id fEd 98 w3 die T HS U31qd?

The coach of a cricket team buys 7 bats and 6 balls for 3800. Later, he buys 3 bats and 5 balls for *

1750. Find the cost of each bat and each ball.
8. sABUfIH st S Qo Ao S Qe T fSs g At 10 A amE ot S o A S S T 2 I
3 Fratt 15t w3 Ay € Qg fidt 39
5 years ago Noori was thrice as old as Sonu. 10 years later Noori will be twice as old as Sonu. How old are Noori
and Sonu?
9. ﬁmﬁﬁ%%%»@w@wﬁ%zﬁ?%ﬁ?ﬂﬂ%?fw%fmﬁr%@aﬁ?ﬁﬂm—%w@w%s
7 S 3 feg 29 ARt 1 v s

A fraction becomes 9/11, if 2 is added to both the numerator and the denominator. If, 3 is added to
both the numerator and the denominator it becomes 5/6. Find the fraction
10. YA A gmiE 91 ©1 BHT BF © B3 © BHT = Es 17 J A<t | Ud A ufost I <t 81d 34
A eI T A3 I | 85T R g =TI BHa St I 2

Five years hence, the age of Ram will be three times that of his son. Five years ago, Ram’s age was seven

times that of his son. What are their present ages?




Triangles

e Each question carry six marks

1.fHo 33 fa #aw far f3ga € fea 3 © AHisT gt € 3ae § fSa-f9s fagnt 3 deet Jet
WWWW?W€WWU?W%HWW%

Prove that if a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct points, the
other two sides are divided in the same ratio.

2. ABCD f&€& AH®Y 93931 J fAR @9 AB|| DC J 1RSI A= AD i3
BC €3 qveW fig E »3 F fer ya9 AfHS I6 fX EF 37" AB © AHST J

ﬁ @ fa( AE ];(Ij% | E F
ABCD isa trape2|um with AB || DC. E and F are points on non-parallel sidesAD and

AE BF

BC respectively such that EF is parallel to AB (see Fig.). Show that — 0 = rC D C

3. 90 AH Bget T ¥ %3t g%T Bl ﬁaau@e’wrrwaafl.zpiﬁ/ﬁﬁr "
9% &% €9 A IJT J | 7a9 AHIS 37 3.6 Hf B9t 3 3= 3T 4
Afas amie €1 &3t ©F 2 ©F saret UsT I |

A girl of height 90 cm is walking away from the base of a lamp-post at a speed
of 1.2 m/s. If the lamp is 3.6 m above the ground, find the length of her shadow
after4 seconds.

4. 6Ht Baet T8 e ¥ gu <9 vz ¥ &t e 3 uge< & suEt 4 Wt J1 79 3 8F AN fEx
HieTg &t uga=” ©F ®aret 28Ht J 1 Hte™g & §9ret uzT 9|

A vertical pole of length 6 m casts a shadow 4 m long on the ground and at the same time a tower casts a shadow
28 m long. Find the height of the tower.

5.CM »i3 RN f337 ABC i3 PQR Tnit opHe™d HftaeT Is, 7T fd AABC~APQR I | AT a9
fa AAMC~APNRI |

If CM and RN are medians of triangles ABC and PQR, respectively where AABC~APQR, prove that
AAMC~APNR

6.fg39 fS<gAODC ~ AOBA, «BOC =125° mM=32CDO = 70°. 2DOC, D C
2DCO "3 £0AB U3 I | 70

0X)125

o

In Figure, AODC ~ AOBA, £BOC = 125° and £CDO = 70°. Find
£DOC, £DCO and 2£OAB

A B
7. ABCD €& AHwg 9393d J AR 9 AB || DCJ | »f3 fer € feage »mun 9 fig O 3 dex Ixifeu®
A0 _ CO
BO DO
ABCD is a trapezium in which AB || DC and its diagonals intersect each other at the point O. Show that & = %

8. ffx 93937 ABCD < fegas nmur feg f‘a—eo@%’%ﬂwmaﬁﬁ A0 _ ?H%w@]%ABCD
£ AH®Y 93937 J

The diagonals of a quadrilateral ABCD intersect each other at the point O such that % = %, Show that ABCD is
a trapezium

9. f€x f3gm ABC Tnit A<t AB,AC »i3 Hfuam AD f&x J9 f3ga & 3=t PQ,PR M3 Hftar PM &
FHTT AHS MaU™sT I 1TIAS fa AABC ~ APQRJ |

Sides AB and AC and median AD of a triangle ABC are respectively proportional to sides PQ and PR and
median PM of another triangle PQR. Show that AABC ~ APQR.
10.f939 S5 P U3 I3 |

Observe Fig. and then find 2P

R

A 63 76




Statistics

e Each question carry six marks

1.
Expenditure | 11-13 13-15 15-17 17-19 19-21 21-23 23-25
in rupees
No. of 7 6 9 13 f 5 4
children
If mean of the expenditure is 18. Find the value of frequency f.
ECE] 11-13 13-15 15-17 17-19 19-21 21-23 23-25
g ot =F 7 6 9 13 f 5 4
for=st
Yifdm3 g99793T U3T 9 7 HUN'S 19 HIg 18 J J |

2. The table below shows the daily expenditure on food of 25 household in a locality. Find the
mean of daily expenditure on food.

Daily 100-150 150-200 200-250 250-300 300-350
Expenditure

(in Rupees)

Number of 4 5 12 2 2
Families

Jot fe st Aadt far Ho s T 25 ufge9t € 316 QUT o3 UJ9 § ISl 1376 QU
JT HIY T HUHS UST I |

I ¥99 100-150 150-200 200-250 250-300 300-350
3 9
ufgergt &t 4 5 12 2 2
At

3. The daily income of the sample of 50 employees are tabulated as follows.
Wages 100-120 120-140 140-160 160-180 180-200
No. of employees 12 14 8 6 10
Find the mean.
fIH Sdedt ¥ 50 HAET™ ©F HAEd! Jo 84 »eAg J, HAET™ 8 HOH® HAgd!l UST &9 |
IEEEl 100-120 120-140 140-160 160-180 180-200
HegdT € forest 12 14 8 6 10

4. The following table given the literacy rate of 35 cities. Find the mean of literacy rate.
Literacy 45-55 55-65 65-75 75-85 85-95
Rate
Number of 3 10 11 8 3
Cities
Jot fo 3t Argat 35 HfgdT & A9sT T9edA 8 e J IHUHG AYdST ©d U3T oJ |
AYJ3T €9 45-55 55-65 65-75 75-85 85-95
Afgat &t 3 10 11 8 3
At

5. The following data gives the information on the observed lifetimes (in hours) of 225 electrical
components. Find the mode lifetimes of the components.

Lifetimes 0-20 20-40 40-60 60-80 80-100 100-120
(in hours)

Frequency 10 35 52 61 38 29
Jot fe st Aadt 225 farelt Quadst © ies I (Ufenrt fe9) F gust foet J19g5x Hies
% UST 9 |

Aes I 0-20 20-40 40-60 60-80 80-100 100-120
(i

fe9)

EISEISEY 10 35 52 61 38 29




. The given distribution shows the number of runs scored by some top batsmen of the world in one
day international cricket matches. Find mode.

Runs 3000- 4000- 5000- 6000- 7000- 8000- | 9000- | 10000-
scored 4000 5000 6000 7000 8000 9000 | 10000 | 11000
No. of 4 18 9 7 6 3 1 1
batsmen
oSt Agat fere © I3 UM gagA enidT £ IAT ni39-IHest fgoe naf fe
gETfentt arEhtt €31 § TIATEE! J 1 98I UST J9 |
FETfent aretmt | 3000- 4000- 5000- 6000- 7000- | 8000- | 9000- | 10000-
a3t 4000 5000 6000 7000 8000 | 9000 | 10000 | 11000
g o 4 18 9 7 6 3 1 1
At

. The following data is
Class 0-10 10-20 20-30 30-40 40-50 50-60 Total
interval
Frequency 5 X 20 15 Y 5 60
If median is 28.5 then find the value of frequency X and Y.
g I f&u nigfant & Hiuar 28.5 T 3T nifams g9993T X ni3 Y € H'& U3T a9 |
IIAT MITH 0-10 10-20 20-30 | 30-40 | 40-50 | 50-60 Total
EISEICEY 5 X 20 15 Y 5 60

. Alife insurance agent found the following data for distribution of ages of 100 policy holders.
Calculate the median age if policies are given only to persons having age 18 years onwards but
less than 60 years.

Age (in | Below | Below | Below |Below | Below | Below | Below | Below | Below
years) 20 25 30 35 40 45 50 55 60
Number 2 6 24 45 78 89 92 98 100
of policy

holders

fe'a fes dtHr S 100 ufert ugst &t 8Hg & €5 3 I5 oy wigg yuz g9er J I W fuar
8HT U™ IF AT utfert 8at feniagtnrt § St A fagt & 81T 18 FE AT B8R 37 wiftw 39
Y3 60 3 we IT |

8Hg (7t | 203 | 253 | 303 | 353 | 403 | 453 |503 |[553 |603
urcris 2 6 24 45 78 89 92 98 100
ugdt €t
At
The length of 40 leaves of the plant is measured in mm and getting data show in following in
frequency.

Length(mm) | 118- 127- 136- 145- 154- 163- 172-
126 135 144 153 162 171 180

No. of 3 5 9 12 5 4 2
leaves

Find the median length of the leaves.
fex U2 St 40 ufanft € saret sasar fHehHies feg it AfEt  wiz yus viafanft §
fost Froet € U fe g Tarenr famr 90 ufant & Hitar Saet uzT a9 |

Haret 118-126 | 127-135 | 136-144 | 145-153 | 154-162 | 163-171 | 172-180
(mm) feg

ufant gt 3 5 9 12 5 4 2
Afgr




Real Numbers, Polynomials, Pair of Linear Equations & Quadratic Equations
TR3fex Aftwret, ggue »i3 € yet &g 3t miteest @ A3
1) fegst f&9° faasr a@s AIT I 2( Which one of the following statements is true?)
a) I9F YT Aftfr fEx yga Aft™ J1( Every integer is a whole number)
b) II UfgHe Aftmr f€x HyIs Rftmm J1( Every rational number is an integer)
¢) 9 niufare wfanr féa @A3fea Hftmr JI1( Every irrational number is a real number)
d) I3 TA3fex At o miufarer #femm JT1( Every real number is an irrational number)

The number of zeroes of the polynomial p(X) represented by the graph
is: e : AR
a)1 b) 2 <3 9 : \ \/
3) feust &8 fagz gguet x° - x* + 2x -2 = fAgg I

Which of the following is a zero of the polynomial x° = x* + 2x — 2?
a)l b) -1 c)2 d)-2

2) T THIT TIATE I TYUT p(x) © fAget <t faest It
/k\ )

4) gguT 2x° —6x+1 ¥ fASTT T IE5E® J: The product of zeroes of the polynomial 2x° —6x+1 is:
1 1
a)3 b) -3 ol d-3

5) SIUT flx), Tt fRgst T farest, fam = e st fesT 3, feg Ia:
The number of zeroes of the polynomial f(X), whose graph is given below, is: /\
a)l b) 2 c)3 d)4 X

6) © w3t gguw, fan dnit fAgat 3 i3 4 I8, B9 T
The quadratic polynomial, whose zeroes are 3 and 4, is

a) x> =7x+12 b) X+ 7x +12 c) X =7x-12 d) ¥’ +7x-12
7) © w3t gguT 3x* + 15x + 12 ¥ fACT:

a) ¥ UBTIHF IS | b) €2 fIEIHI T3 |

c) 8 us=HaT W3 8 faz=sHa I d) 99799 I5 Ud3 Bue fdg T Is |

The zeroes of the quadratic polynomial 3x?+ 5x+ 12 are
a) both positive b) both negative c) one positive and one negative d)equal in magnitude, but opposite in signs

8) fo3r I fx 35 w3t gguT ax’+ bx’+ cx +d Toif fAeat f&8° f8a fAeT 0 I, 37 gt © fAest T JTaes J:
Given that one of the zeroes of the cubic polynomial ax® +bx? +cx+d is zero, the product of the other two zeroes is
a)—< b) < c)0 d)-2

a

9) Iz fednit AHigaET feg” fagst x U9 © AHE3T JuT § TIAgEt O
Which of the following equations represents a line parallel to x-axis?
a)x=y b)2x+3=7 cy=4 d)x=3

10) g AHTIIET 4x+ 5y =203 12x +(p+ 16) y=6T 13 © 133 I& I, 37 p T HS It
If the pair of equations 4x+ Sy =2 and 12x+ (p+ 16) y = 6 has infinitely many solutions, then the
value of pis

a)1 b)—1 )2 d)-2

11) 3ot AHtETE &t 73T 3x+4y+15=0 w3 9x+12y =75 =T

a) AT JH &I I b) ET TS T ) € I% IS | d) "33 IS T5|

The pair of linear equations 3x+4y+15=0 and 9x+12y =75 has

a) no solution b) one solution ¢) two solutions d) infinitely many solutions
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Arithmetic Progression and Triangles
i afssa sFtit w3 fagw

vl o

1)7 - ,a,4A.P. 39 U5, 3Ta @ H& J: Ifg ,a,4A.P.are in A.P., then the value of a is:
13 26
a)l b) 13 o< d)—

2) A.P.: 21, 42,63, 84, ... T fda=t U¥ 210 I? Which term of the AP: 21, 42, 63, 84, ... is 210?
a)9 =& b) 10 <F° 11t d)12 =t

3) ¥ AP, 9 , AT a@1=1, an=20 M3 Sn=399 3f n IITTT J:
Inan A.P., if a =1, an=20 and S= 399, then nis equal to:

a) 19 b) 21 c) 38 d) 42

4) T a,, @, 3, ... @5, ST 33 d &% A.P ST I5 3 ay, as, as, Aus.....

a) ATS ni3T 16 d 5% A.P f&g J=ar| b) ATS ni39 d &% A.P. f&g J=aT|
) AT ni39 4 d &% A.P. &g J=ar| d) AP f&g &dt' € T Aae |

If a), a,, as, ... upto a,; are in A.P. with common difference d, then a,, as, ay, a3
a) must be in A.P. with common difference 16 d b) must be in A.P. with common difference d
¢) must be in A.P. with common difference 4 d d) may not be in A.P.

5) fAr A.P. f39 a1 — @ 14= 32 J,8H AP =7 ATST ni3T J:The common difference of an A.P. in which a1 — @ 14=32 is
a)8 b)—8 -4 d)4

6) Hrg Ufgshmt 20 faRz urfafzar Hfimret T Ages, ufgsht 20 e Urfafsa Aftmiet T A3e% @ k a5 J 3°
k @ H® J: If the sum of first 20 even natural numbers is equal to k times the sum of first 20 odd natural numbers,
then Kk is equal to:

1 19 21 21

7) A.P.:5,8,11, 14, .. 10 & Ug J: The 10" term of the A.P. : 5, 8, 11, 14, ... is:
a) 32 b) 35 c) 38 d) 185

8) A.P.:10,6,2,.. € Ufg® 16 ue’ ¥ §3€® J: The sum of first 16 terms of the A.P. : 10, 6, 2, ... is:
a)—320 b) 320 c)—352 d)—-400

9) fog A.P. f&9, #a=-7.2,d=3.6 W3 an=7.2, 3" n HI'"T J;

Inan A.P.,ifa=-7.2, d=3.6 and an= 7.2, then n is equal to
a)l b) 3 4 d)5

10) A.P..8,3,-2, ... € n 2 YT J: The nnterm of the A.P.: 8,3, -2, ... is:
a)—-2+3n b) 5-13n c) 13-5n d) 8+3n

11) AdI Aftmir 2,7 w3 k+ 4 A.P.. {39 5, 3T k =7 ¥& J:
If the numbers 2, 7 and k+ 4 are in A.P., then the value of kis:
a)6 b) 7 c)10 d) 8

12) f&3 a2 fg39 f@9, DE || BCI| & AD=2cm, AB=5cm "3 BC=7.5cm, 3
DE ¥9799 J: In the given figure, DE || BC. If AD =2 cm, AB =5 cm and

BC = 7.5 cm, then DE is equal to
a)1.5cm b)2.5cm c)3cm d)5cm

T em
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Coordinate Geometry, Trigonometry and Application of Trigonometry
foger wia fanfedt, feasfist a9 A'E usrs w3 f3a=fist © a3 Guuar

1)1 &3 are 539 189, AB i3 €D gHeT B9el hi w2 he @8 2<9 ua I fiig 0, AC
¥ HT

i &1 7 AB »3 cD fT 0 ‘T FHTT 30° »F 60° &= FEET T8 I harhe =

In the given figure, AB and CD are towers of heights hi and hz respectively. O is the

mid-point of AC. If AB and CD subtend angles 30° and 60° at O, then i : o= b
]
a)2:1 b)2:3 c€)3:2 dj1:3
2) #d cos A :% 2t tand = (If Cos A :% Jthen value of n
o
tanA = ) v - 0 t
3 4 4 5

3) 979 faenit P(-2,2), Q(2, - 4), R(-3,-4) W3 S(-5,-5) " gz gt Suret fRe 9, 8o fag o
Of the four points P(— 2, 2), Q(2, —4), R(— 3, —4) and S(- 5, — 5), the point that lies in second quadrant is:
a)P b) Q )R d)S

4) 1.5m &g fea qua fonal 2 28.5m & wdt 2 7 18RS niw &% fonat @ fave = o dx 45° 9 1 fonal &
897t U=T &9 | An observer 1.5m tall is 28.5m away from a tower . The angle of elevation of the top of the tower from her
eyes 15 45" Find the height of the tower .

a) 30 m b) 28.5m c)28m d)29 m

5) ffentt A (12, 8) w3 B (4, 16) & fH®B= @& Jur ¥s ¥ Hu fae O
The mid-point of the line segment joining the points A (12, 8) and B (4, 16) is

a) (8, 12) b) (16, 24) <) (8, 8) d) (12, 12)

6) fient A (5,-8) »3 B (-2,3) ¥ fegaa & g J: The distance between the points A (5, —8) and B (- 2, 3) is
a)V170 b) 34 c) 18 d) 10

7) 7@dtanA =3 ,cosB=0 3T B—A T HS -T2 | If tand =3, cos B = 0 ,then the value of B — A = ——--
a) 60° b) 90" c) 30° d) 0°

i

8) cos 30°. cos 60° - sin 30°. sin 60° T H® J: The value of cos 30°. cos 60°—sin 30°. sin 60° is:

a) 2 b) 1 c) 0 d):
N - 1 =N . =Y . 1 .
9) H sing =_J 3 cosec’8 93999 J: If sinf = 5 then cosec?8 is equal to:
1
a) 2 b) 2 1 d)4

10) sin 30° cos 60° T K& J: The value of sin 30° cos 60° is:
2 o e o

11) 70 = 30°, 37 2sinf cos@® TITIT J: If O = 30°, then 2 sin@ cosO is equal to
a2 b) 2V3 c)V6 d)
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Circles, Area Related to Circle
I W3 999 5'% HAUS H3ISH
1) &3 JIe {939 179, PA fEx ATIF O M3 MIT fen™F 5 cm & JaI ©F
AUIH JuT J| FAF OP = 13 cm, 37 PA I993 J: In the given figure, PA is a
tangent to a circle with centre O and radius 5 cm. If OP = 13 cm, then PA is

equal to
a)8cm b)12 cm c)13cm d) 18 cm

2) &3 fo37 f&9, 3937 PQRS , ATT O T TFI § TJIN 39 3 S0€7 J |

g PD =4cm, QB=3cm,RC=6cm M3 SD=5cm J 37 PQIIET J: In the given
figure, PQRS is a quadrilateral which circumscribes a circle with centre O. If PD =4
cm, QB =3 cm, RC =6 cm and SD =5 c¢m, then PQ is equal to:
a)7cm b) 8 cm c)9cm d) 10 cm

3) f&x gradt fig 3 AT 0 T TFI 73 FEEt € AUIH Iyt fesdd 50°

T dE I # AUIR Iy, 939 3 g P »i3 3 fumEt 95 3 2POQ J: The angle between two tangents
drawn from an external point to a circle with centre O is 50°. If the tangents meet the circle at P and Q, then
£POQ is equal to

a) 90° b) 100° c)120° d) 130°

4) fex ot g P 3 IEJ 0 T TAT ‘I € AUIH Jue’ PA »i3 PB fEH
39t fighrt ot 95 fx £APB=120°J| & I3 AUIH JuT € BT 5em I
3t OP 9T I

Two tangents PA and PB are drawn from an external point P to a circle with
centre O such that ZAPB= 120°. If length of each tangent is 5 cm, then OP is

equal to
a)5cm b)5.2 cm c¢)10cm d) 10.2cm
5) f&3 a2 fg39 29, 10 cm »3 8 cm »iIu fanig @8 € Ja9t @ ¥ T9 0 J| S
A3 8¢ 939 © fog P I ABfEX AUTH Jur J= 3t AB ©F ®gret It
In the given figure, two circles of radii 10 cm and 8 cm have the same centre O. If AB 0
is a tangent to the smaller circle at P, then length of AB is
a) 6 cm b) 12 cm ¢) 14 cm d) 18 cm Q"”
A r E

6) 7 f£x T39 ¥ © »9y fenrAt T fe8x9 dT 140 ° I, 3f nIT fonAt © wis fient I gt AUIR Jut=t
fegarg & J: If angle between two radii of a circle is 140°, then the angle between tangents hich are drawn at the

ends of the radii is
a) 40° b) 70° c) 90° d) 140°

Ry = 0
7) &3 gz f939 99, PT ATJ 0 @& TT & AUTH U™ J1 & 2QPT=60° J 3f ( o
£PRQ ¥399 J: In the given figure, PT is tangent to the circle with centre O. If ZQPT :
= 60°, then £PRQ is equal to \ M,/
A

a) 30° b) 45° c) 60° d) 80°

8) &3 arg fg39 f29, APB ni3 CQD AHIST AUJIH Ju<f 5| & JdJ € mIu feni™ 5em I
3t pQ ¥9799 J: In the given figure, APB and CQD are parallel tangents. If radius of the
circle is 5 cm then PQ is equal to

a)52cm b)9 cm c)1llcm d) 10 cm
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Surface Area and Volume, Statistics and Probability
AT BT 439EB N3 mfess, viagr fefamrs 3 AgesT
1) © ufan & fFa Gaw ‘3 ggreg Afunre’ & 731 (doublet) (372, 2 Ui 3 f&a Afuwr wiBz) s
€ Hg72a" J: In a single throw of two dice, the probability of getting a doublet (i.e., getting the same
number on both the dice) is:
1

a}% b)

(
1 1

2) 3AT6 cm TH WE I3 AT W fFY dfent Ifenr I, fiF I99 we ©F 39 3AT 2 em I 3T wEt & fasst J=att:
A cube of side 6 cm is cut into a number of cubes, each of side 2 cm. Then the number of cubes will be:
a)9 b) 18 c) 27 d) 36

3) © fA®sIt T »IU fonrA T wigu'3 2:3 T w3z Bat Tt Bardhmt 8 nigurs 5:3 1 BIat € mifezat &r
maur3 J: The radii of two cylinders are in the ratio 2 : 3 and their heights are in the ratio 5 : ¢) The ratio of their

volumes is:
a)10:27 b)20:9 c)20: 27 d)10:9

4) f&x a1 &g 4 &% drer,s adnit aret w3 ¢ a8t aref o1 8 afe 3o f&9° a3l a% def aEt I
adt &dt T, € AgreaT I:A bag contains 4 red balls, 5 green balls and 6 blue balls. One ball is drawn at random
from the bag. The probability that the drawn ball 1s not green is:

a); b) o= d)=

5) % B T3S ST © g T B39EH 154 cm’ I wiF fem = »irfEss 6160 cm® 31 fHBsT o 239 AT
U39EH J (T = % B?) : The area of the base of a right circular cylinder is 154 cm?”and its volume is 6160 cm’

(r = g ).The curved surface area of the cylinder is:
a) 880 cm’ b) 1760 cm® c) 1914 cm’ d) 2068 cm’

6) T35 fig feas Ga® are| Ao fiffant T f&3 (Heads) mirz = o Fa=a T7
Three coins are tossed together. What 1s the probability of getting all heads?

i i 3 1
a) o b) = o5 d) 5

7) f&a yr feg =t Afenr famr 1 um © 83 f&a wigm At »irz € Aa=er O
A die is thrown once. The probability of getting a prime number on its top is
1 2 1 1

8) f&x By »= BT 99799 € g ‘3 ¥z I5 3 Bast & Guret AHs J1 83t © nrfesst & nigus O
A cone and a cylinder stand on equal bases and have the same height. The ratio of their volumes is
a)l:3 b)1:2 c)2:3 d2:1

9) 8 Hfuwret @ o 42 T 7 57 Bt 63 3,37 walt Aftret & Hoys O
The mean of eight numbers is 42. If one number is 63, then the mean of the remaining numbers is
a) 36 b) 37 c) 38 d) 39

10) Hfamr=st 4, 15, 19, 21, 6 ©F Hfaar (Median) 3:The median of the numbers 4, 15, 19, 21, 6 is
a) 19 b) 15 c)15.5 d) 17

11) 100 Aftf=@T =7 HOH'S 50 Sfgnrm famr AL ug gmie feg &g St famrr fx f8x Aftor 150 & &3t 57%
50 & 39 3 f&rr famit BT AJT HuH™s I :Mean of 100 numbers was found to be 50. But later on, it was observed

that one of the number 150 was wrongly taken as 50. The correct mean is:
a)49 b) 50 c)51 d) 52
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